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SECTION - A

(5x2=10)

What is memorandum revaluation A/c?

State the order in which payments are made on dissolution of a partnership

firm.

What is sacrifice ratio?

What is gain ratio?

State any two differences between LLP and partnership.

Explain the principles of Garner v/s Murray case.

X and Y are partners sharing profit and losses in the ratio of 3:2. They

admit Z as partner for 1/4™ share in profits. Z acquired his share from

X and Y in the ratio of 2:1. Calculate the new profit sharing ratio?
SECTION - B

Answer any FOUR questions of the following: (4x12=48)

A and B carrying on business in partnership and sharing profits and losses in

the ratio of 3:2 and X and Y carrying on business in partnership and sharing

profits and losses equally, decided to amalgamate on 1.1.2017 on that date

their Balance Sheets were as follows:

 Assets | AB XY | 5T ALDYSIUS COLLEGE LIBRAR)
Goodwill | . 1,000 VIANGALURU- 575 003
Furniture i 1,800 -
Stock 3,000 2,600
Debtors 1,200 2,400
Share 2,000 -
8,000 6,000
Liabilities
Creditors 1,000 2,200
Bank overdraft - 800
Reserve 2,000 -
Capital Accounts
A 3,000 -
B 2,000 -
X - 1,500
| ¥ - 1,500
8,000 6,000
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10.

11.

The terms of amalgamation are:

1. A new firm to be formed consisting of thes
share profits in future in propo
after all adjustments.

rtion to their capi

2. The furniture should be taken at Z 2,300

3. The goodwill appearin =
4. X and Y should each bring in 2500 as additional ca

firm.

Page No.2

e four persons who should
tals in the new firm

g in the Balance Sheets of X, Y was worthless,
pital in the new

Give journal entries in the books of A and B and X and Y and prepare the

Balance Sheet of the new firm.
Following is the Balance Sheet of A, B and C sharing the profits or losses

equally. Balance Sheet as on 31% march, 2015

Liabilities Amount | Assets Amount
Capital:

A 35,400 | Land and Buildings 45,150
B 29,850 | Goodwill 5,250
C 14,550 | Furniture 7,350
Reserve fund 10,500 | Stock 29,400
Bills payable 6,300 | Debtor 26,460
Creditors 18,900 | Cash at bank 1,890

| Total | 1,15,500 | Total | 1,15,500 |

They agreed to take D into partnership and give him Y shares on the

following conditions.

1. That furniture be written down by 2920 and stock be depreciated by

10%

2. That provision of ¥1,320 be made for outstanding repair bills.
3. That D is to bring in 25,000 towards capital.
4. That the value of land and buildings be brought up to % 59,850
5. The goodwill of the firm is valued at 14,400
Prepare Revaluation A/C, Partners capital A/C of the firm.

a) Write a note on AS-21, AS-25.
b) Explain the features of LLP

(6)
(6)

A, B and C were partners in a firm sharing profits and losses in the ratio of
2:1:2. They decided to convert the firm into A ltd with effect from 1.4.2015
on which date their balance sheet stood as follows:

Liabilities Amount | Assets Amount
Capitals: Goodwill 80,000
A 25,000 | Machinery 50,000
c 85,000 | Stock 50,000
C’s loan 50,000 | Debtors 80,000
Bank overdraft 30,000 | Cash 10,000
Creditors 60,000 | B's capital 30,000
Bills payable 50,000

n 3,00,000 3,00,000
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13.

firm was dissolved on 31.12.2019

Page No.3
All assets (except cash) and all outside liabilities are taken over by the

company for a consideration of F2,00,000 to be discharged through 20,000

equity shares of 10 each fully paid. The partners decided to allocate the

shares in their profit sharing ratio. Show realization a/c, partners capital

account, A Itd a/c , equity shares a/c , bank a/c.
P, Q and R are partners sharing profits and losses in the ratio of 3:2:1. The
on which date their Balance Sheet was as

under:
Liabilities | Z Assets z

Sundry Creditors 14,982 | Sundry Assets 6,750
Reserves 3,600 | Sundry Debtors 3,415ﬂ

B/R | 2,518

Capital A/C’s : Stock 4,516

P 8,415 Cash 3,214

Q 5,916 14,331 | R’s Capital A/Cs 12,500

32,913 32,913

The lives of the partners were insured severally for P 2 10,000;
Q % 5,000 andR 7 6,000. The premiums were charged to the Profit & Loss

Account. On the date of dissolution the surrender value of each policy was

30% of the sum assured. P took over his policy but the policies of Q & R

were surrendered. In the course of realization it was found.
1) That a liability for purchase of goods in 2019 7 1,500 had been
omitted from the Balance Sheet but the goods had been included in

the closing stock.
2) The B/R amounting to 3,500 discounted by the firm were

dishonored and proved to be valueless. The firm pays the amount to

the bank

3) P agreed to take
4) The B/R was retired by the acceptors for 2 2,400. The remaining

alized  10,399. The expenses of realization amounted to

over the goodwill of the firm at ¥ 2,500.

assets re
¥ 600. R is insolvent and his estate paid Z 2,100 only.

e the necessary Ledger A/C, to close the books of the firm.
P&L in the ratio of 3:2 took out a joint life

Prepar
A and B are partners sharing
policy on 15.01.2007 for ¥20,000 for 20 years. The annual premium is

Z1,000 being payable by the firm. The firm closes its accounts on 31%

December every year. The surrender value of the policy for the first 5 years

5T ALOYSIUS COLLEGE LIBRAR

was as follows: .

IANGALURYU- 575 003
2007-nil, 2008—?200,2009—%‘550,2010—?780,2011-? 900. \ }
B died on 10" February 2011 and the claim on the policy was collected on

15-3-2011.

Prepare joint life policy a/c and joint life policy reserve a/c.
Contd...4
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SECTION - € (2x16=32)
Answer any TWO questions of the following: .
o 1
14, Balance Sheet of Nidhi and Nikitha was s under 0 - B
——— nesets . | Amount
[ Liabilities Amount ff’ff s
35,900 [ Cashatbank | 20,000
esns | WO0G0[BR__ 7550
' Capital : 1 _‘_—',_ggglg_s_ﬂ_,,__m*_—afﬁ-é—o_éﬁ
Nidhi 5,60,000 [Debtors ———— 500
abp u i |
Nikhitha 4,00,000 _Elyfﬂlt'_#——— 5.00.000
a0 | 850,000
8,50,000 20,

15.

~<hare profits and |
The partners decided to share profits an
admitted Lekha as a partner and was given 1/5 share on

terms: She should bring ¥ 2,00,000 as her capital
1. Goodwill of the firm be valued at 260,000

o v AW

Stock and furniture to be depreciated by 10%
A provision of 10% on debtors be created. |
An amount of 22,500 included in creditors is not likely to be claimed.
A provision of 2,000 is created against reserve for doubtful bills.

The capitals of Nidhi and Nikitha are adjusted according to new profit

Tosses in the ratio of 3:2. They
the following

sharing ratio based on the cash brought in by the new partner

towards her capital.

7. Excess or shortage of capital arising out of adjustment is to be
transferred to the newly opened current accounts.
Prepare Revaluation A/C, Partners capital Accounts and Balance Sheet of the

new firm.

A, B and C were partners sharing profits and losses in the ratio of 3:2:3.
The following was the balance sheet on 31.3.2015, on which date the firm

was dissolved.

Liabilities 'Amount | Assets Amount
Creditors | 20,000 | Cash 8,500
Reserve Fund 10,000 | Debtors 30,000
Mortgage loan N 4,000 | Stock 22,100
Capitals Furniture 5,000
A 32,000 | Property 9;00.0
C 15,500 | B's capital 4,900
Profit and Loss a/c 2,000

81,500 81,500

They realised the assets as under: pro

stock #10,000.

50% of the debtors realized at a discoun
over ¥ of the remaining debtors at 22,
¥2,500. Expenses of realization amounte
take 75 paise in a rupee in fyl| Satisfactio

Prepare Realiasation a/c, Partners Capital

n of their claim,
a/c, Bank a/c,

perty 5,000, furniture 31000 and

t of 75 paise in a rupee. A took
000. Balance of debtors realised
d to ¥2,000. Creditors agreed to
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16. A, B and C share profits and losses in the proportion of 4/10, 5/10 & 1/10.
Their balance sheet as on 31t Dec 2004 was as follows:
Liabilities Amount | Assets Amount
Sundry creditors 10,000 | cash in hand 3,000
A’s loan 6,000 | other assets 56,000
B’s Loan 3,000
Reserve Fund 6,000
Contingency Reserve 4,000
Capital accounts :
A 15,000
B 12,000
@ 3,000
i 59,000 59,000 |
The partnership is dissolved, and the assets realized as follows:
First realization 10,000
Second Realization 20,000
Third realization 17,000

On the date of dissolution there was a contingent liability of ¥ 1,000 against
the firm which was settled at 700 at the time of second realization.
Realization expenses were estimated at %2,000 but actually came to
Z 1,500. C took stock worth 500 at the time of third realization.

Prepare a statement showing distribution of cash following proportionate
capital method. >T ALOYSIUS COLLEGE LIBRARY
SECTION - D MANGALURU- 575 (03
Answer the following: Compulsory (10)
17. A, B &C were partners sharing profits 2/5, 3/10 and 3/10 respectively. Their

Balance sheet as on 31% December 2019

Liabilities Amount | Assets Amount
Creditors 8,000 | cash 1,000
Bills payable 2,000 | Debtors 7,000 '
Reserves 5,000 | less: provision 1,000 6,000
Capital: Stock 10i000
A 16,000 Motor car 4,000
B 12,000 Plant and machinery 14,000
¥ 10,000 38,000 | Buildings 18,000
53,000 53,000

B retires on that date on the following terms:

1. The goodwill of the firm is to be valued at %7,000.

2. Stock and building are to be appreciated by 10%.

3. Plant and motor car are to be depreciated by 10%. °
4. Provision for bad debts is no more necessary,

Amount payable to B is to be transferred to his loan account, Prepare
Necessary ledger accounts in the books of the firm.
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (ACCA) - Semester IV- Degree Examination
July/August - 268 2
FINANCIAL MANAGEMENT
Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)

1. Which are the THREE key roles played by money markets?

2. Will Co incurs costs of $65 every time it places an order with its raw materials
supplier. It orders 300,000 units of product each year. The cost of holding
one unit of inventory for a month is $2.50. Will Co keeps a buffer inventory
at all times of 25,000 units of material. Calculate the economic order quantity
(EOQ) that will optimize the business’s inventory costs to the nearest 10
units.

3. A company has sales revenue of $30 million and its customers take an
average of 75 days to pay. The company offers a 1% discount to customers
who pay in 30 days. Calculate, to the nearest hundred thousand dollars, the
new anticipated receivables balance if 60% of customers take up the offer of

the discount and the rest carry on paying in 75 days. Assume 360 days in a
year. dI' ALOYSIUS COLLEGE LIBRARY

VIANGALURU- 575 003
4. A company has 31 December as its accounting year-end. On 1 January 20X5,

a new machine costing $2,000,000 is purchased. The company expects to sell
the machine on 31 December 20X6 for $350,000. The rate of corporation tax
for the company is 30% and tax is paid at the end of the year in which it is
incurred. Tax-allowable depreciation is obtained at 25% on the reducing
balance basis, and a balancing allowance is available on disposal of the asset.
The company makes sufficient profits to obtain relief for tax-allowable
depreciation as soon as they arise.

If the company’s cost of capital is 15% per annum, what is the present value

of the tax savings from the tax-allowable depreciation at 1 January 20X5 (to
the nearest thousand dollars)?

5. A company has a ‘money’ cost of capital of 21% per annum. The general rate
of inflation is currently estimated at 8% Per annum. What is the ‘real’ cost of
Capital (to the nearest whole number)?

6.

A company issued its 12% irredeemable loan notes at 95. The current

market price is 92. The company is paying corporation tax at a rate of 30%.
What is the current net cost of capital

PEr annum of these loan notes (to one
decimal place)?

Contd...2



Answer any FOUR of the following.
8.

.

10.

i1
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w machinery in three months' time for $7.5m,

_ $2.0390 = £1. What is the

hich the company should hedge

A UK company will purchase ne
The forward exchange rate is $2.0383
appropriate three-month forward rate at W

this transaction (to four decimal places)?

SECTION - B
(4x12=48)

Critically discuss FOUR reasons why NPV is regarded as superior to IRR as an

investment appraisal technique. -
Melanie Co is considering the acquisition of a new machine with an operating

life of three years. The new machine could be leased for three payments of

$55,000, payable annually in advance.
achine could be purchased for $160,000 using a bank loan

Alternatively, the m
o will incur

at a cost of 8% per year. If the machine is purchased, Melanie C
maintenance costs of $8,000 per year, payable at the end of each year of

operation. The machine would have a residual value of $40,000 at the end of

its three-year life.
Melanie Co’s production manager estimates that if maintenance routines were

upgraded, the new machine could be operated for a period of four years with
maintenance costs increasing to $12,000 per year, payable at the end of each
year of operation. If operated for four years, the machine’s residual value
would fall to $11,000.
Taxation should be ignored.
a) Assuming that the new machine is operated for a three-year period,
evaluate whether Melanie Co should use leasing or borrowing as a source of
finance. (6 marks)
b) Using a discount rate of 10%, calculate the equivalent annual cost of
purchasing and operating the machine for both three years and four years,
and recommend which replacement interval should be adopted. (6 marks)
B Co has 10 million 25c ordinary shares in issue with a current price of 155c
cum div. An annual dividend of 9c '
earns an accounting rate of return to Z:Jii: S(tR:)eEjn fpr:)zosed. . S
of the return as dividends. The company also has 1;)0/ g
o 6 £ el o 85 erliare e o redeemable loan notes
' g at $105. They are due to be

redeemed at nominal value in five years’ time. If the rate of corporation tax is
33%, what is the company’s WACC? b

Noon C i
0, @ company based in Centre land whose home currency is the Centre

land Colon
(CC), has been regularly buying components from and selling

finished products to businesses i
S in Fly lan _
Franc (FF). y land, where the currency is the Fly land

Contd...3
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One particular payment of 3,000,000 Fly land Francs has to be made by Noon
Co to a supplier in Fly land in three months’ time. The following information is
available.

Spot rate 6.170 - 6.210 Fly land Francs to the Centre land Colon

Three-month forward rate 6.321 - 6.362 Fly land Francs to the Centre land

Colon
Interest rates that can be used by Noon Co are as follows.
Borrow Deposit j
Fly Land Franc interest rate 18.0% per 13.5% per annum
Centre Land Colon Interest rate annum 6.3% per annum
8.1% per annum

a) What is the cost in Centre Land Colons of a forward market hedge?
(6 marks)

b) What is the cost in Centre Land Colons of a money market hedge?

ST ALOYSIUS {'*I"‘!T.' '- 's" f\!-f!?:.-‘d{"e (6 marks)
Trecor Co plans to buy a machﬂiﬁg‘ri:"i:}ééi.rifé'$f)2"5':0.',660 which will last for four
years and then be sold for $5,000. Net cash flows before tax are expected to

be as follows.

! T1 T2 [ T3 T4
Net cash flow $ | 122,000 143,000 187,000 78,000
Deprecation is chérged on a straight-line basis over the life of an asset.
a) Calculate the before-tax return on capital employed (accounting rate of

return) based on the average investment (to the nearest whole percentage)
(4 marks)

b) Trecor Co can claim tax-allowable depreciation on a 25% reducing balance
basis. It pays tax at an annual rate of 30% one year in arrears. What amount
of tax relief would be received by Trecor in time 4 of a net present value

(NPV) calculation? (4 marks)
c) What is the payback period for the machine (to the nearest whole month)?
(4 marks)

Tulip Co is a large company with an equity beta of 1.05. The company plans
to expand existing business by acquiring a new factory at a cost of $20
million. The finance for the expansion will be raised from an issue of 3% loan
notes, issued at nominal value of $100 per loan note. These loan notes will be
redeemable after five years at nominal value or convertible at that time into
ordinary shares in Tulip Co with a value expected to be $115 per loan note.
The risk-free rate of return is 2.5% and the equity risk premium is 7.8%.
Tulip Co is seeking additional finance and is considering using Islamic finance
and, in particular, would require a form which would be similar to equity
financing.

Contd...4
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i i icing mode|?
a) What is the cost of equity of Tulip Co using the capital asset pricing el

(6 marks)
i he convertible
i i hat is the cost of debt of t
b) Using estimates of 5% and 6%, w
(6 marks)
loain notes?
SECTION - C
(2x16=32)

Answer any TWO of the following.
KXP Co is an e-business that trades solely over the internet. In the last year,

the company had sales of $15 million. All sales were on 30 days’ credit to

commercial customers.

Extracts from the company’s most recent statement of financial position

relating to working capital are as follows:

Trade receivables $2.5m

Trade payables $2.2m

Overdraft $3.0m

In order to encourage customers to pay on time, KXP Co proposes introducing
an early settlement discount of 1% for payment within 30 days, while
increasing its normal credit period to 45 days. It is expected that, on average,
50% of customers will take the discount and pay within 30 days, 30% of
customers will pay after 45 days, and 20% of customers will not change their
current paying behavior,

KXP Co currently orders 15,000 units per month of Product Z, demand for
which is constant. There is only one supplier of Product Z and the cost of
Product Z purchases over the last year was $540,000. The supplier has
offered a 2% discount for orders of Product Z of 30,000 units or more. Each
order costs KXP Co $150 to place and the holding cost is 24 cents per unit per
year.

KXP Co has an overdraft facility charging interest of 6% per year.

(a) Calculate the net benefit or cost of

the proposed changes in trade
receivables

policy and comment on your findings. (8 marks)

company is also financed by 7% bonds
bond, which will be redeemed in seven

Contd...5
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ns to invest in a project that is different to its existing business

ence Co pla
i as the

operations and has identified a company in the same business area
project, Hex Co. The equity beta of Hex Co is 1.2 and the company has an
equity market value of $54 million. The market value of the debt of Hex Co IS

$12 million.
The risk-free rate of return is 4% per year and the averag
stock market is 11% per year. Both companies pay corporation tax at a rate

e return on the

of 20% per year.

a) Calculate the current weighted average cost of capital of Fence Co.
(9 marks)

b) Calculate a cost of equity which could be used in appraising the new

project. (7 marks)

Dink Co is a small company that is finding it difficult to raise funds to acquire
a new machine costing $750,000. Dink Co would ideally like a four-year loan
for the full purchase price at a before-tax interest rate of 8.6% per year.

The machine would have an expected life of four years. At the end of this
period the machine would have a residual value of $50,000. Tax-allowable
servicing costs for the machine would be $23,000 per year. Tax-allowable
depreciation on the full purchase price would be available on a 25% reducing
balance basis.

A leasing company has offered a contract whereby Dink Co could have use of
the new machine for four years in exchange for an annual lease rental
payment of $200,000, payable at the start of each year. The contract states
that the leasing company would undertake maintenance of the machine at no
additional cost to Dink Co. At the end of four years the leasing company
would remove the machine from the manufacturing facility of Dink Co.

Dink Co pays corporation tax of 30% one year in arrears.

a) For the new machine, calculate the present value of the cost of borrowing
to buy and the present value of the cost of leasing. Recommend which option
is more attractive in financial terms to Dink Co. (10 marks)

b) Discuss general reasons why investment capital may be rationed.

ST ALOYSIUS COLLEGE Lipp Ao (6 marks)
MANGALURU- 575 003 o
SECTION - D
Answer the following: (Compulsory) (10)

Discuss the attractions of leasing as a source of both short-term and long-
term finance.

s 3k e ok ok o ok ok ok ok
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St. Aloysius College (Autonomous)
Mangaluru
B.Com. - BPS Semester IV - Degree Examination

July/August -20 82/

FINANCE AND ACCOUNTING FOR BPS
Max Marks: 100

Time: 3 hrs.
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. A Ltd purchased a building for Rs 100 on cash. Journalize the transaction.
2. What do you mean by an Accounts Payable?
3. What is a trade discount?
4. Journalize the transaction for recording of purchases or expenses by creating

@)

10.
11,

12.

13.

14.

15.
16.

17.

liability for payment to vendor.
What is an order management process?

What is business entity concept?

What is purchase order?

SECTION - B
Answer any FOUR of the following. (4x12=48)

Accounting Conventions are generally the guidelines for preparing various
financial statements. Discuss
a) Write a short note on BPS industry in India. (6 marks)

b) Write a short note on IFRS. (6 marks)
Define XBRL. Explain its key functions.
Explain the methods of collection along with tips to make collection calls.

Service level agreements play a vital role in maintaining the level of
performance standards agreed between the service provider and the
outsourcing organizations. Explain.

Describe the sequential steps in the accounts receivable process customer
master set up.

SECTION - C
Answer any TWO of the following. (2x16=32)

Any organization either involved in manufacturing or trading needs to buy
materials from various vendors. In view of the statement, evaluate the
complete process of Vendor creation and maintenance.

Explain the various statutory reports.

Explain traditional accounting method and modern accountin i
; alon -
advantages and limitations. g g with their

I 1‘*';]‘ ‘:.\f".'f-‘.-" 1 o
i._-‘..'j'f\l“\ ("".Fll-,..i..
NS, 8,0

SECTION - D 'I\E."‘.f\:f.',-‘.l S1Ians o )

Answer the following: (Compulsory) -I(.iO)
a) What is a Debit note memo? List out the scenarios where debit note is d?
used?

(5 marks)
e a credit
(5 marks)

b) Explain in brief with any four examples of when you would us

note?
% ok 3% 3 % % ok ok oK 3k
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St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester IV - Degree Examination
July/August - 2022

E-COMMERCE AND ACCOUNTING

Time: 3 hrs. Max Marks: 100

10.
11.
12,
13.

14.
15.

16.

17,

N, P E

SECTION - A
Answer any FIVE questions of the following: (5x2=10)
What is Electronic Data Interchange?
Expand i)www ii) http
What is the use of count function in Spreadsheet?
Define a cell in Excel.
List any four Accounting voucher in Tally.
What is the account type for Equity?
Define Daybook.

SECTION - B

Answer any FOUR questions of the following: (4x12=48)
List the advantages and disadvantages of Ecommerce.
Explain the following terms
i)web auction ii)virtual communities iii)web server
Define cell reference in excel? Explain the different types with example.
Explain how we can create, alter and delete a stock item in Tally?
Explain the Balance sheet screen options with examples.

Give the journal entries for the following transactions in Tally. Also indicate
the appropriate accounting group and voucher types with shortcut keys.

a) Mr Raj started a business with cash 2,00,000.

b) Purchased goods for 250,000 from Ankith for credit.

c) Paid advertisement charges ¥2,000.

= d) Sold goods for cash 225,000.
e) Commission received ¥5,000.
SECTION-C
Answer any TWO questions of the following: (2x16=32)

How B2C model is different from B2B model. Explain briefly

Explain the following Reports Available in Tally
a. Profit and Loss account ST ALOYSIUS COLLEGE LIBRAR
b. GSTR1 and GSTR2 Reports MANGALURU- 575 002
c. Cash flow statements

What is GST composition scheme? Explain who can register GST

composition scheme rate.
SECTION - D

Answer the following: Compulsory (10)

Create a worksheet for five records with fields Employee No, Employee
Name, Designation and Basic Pay. Calculate DA, HRA, Gross Pay, PF and

Net Pay.

DA = 65% of Basic Pay.
HRA=If Basic Pay is <6000, HRA = 10% of Basic Pay else 'HRA is 12.5% of

Basic Pay
Gross Pay = Basic Pay + DA + HRA, PF = 12% of Basic Pay , Net Pay =

Gross Pay - PF

b sl sds sl als
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BUSINESS ANALYSIS
Time: 3 hrs. Max Marks: 100
SECTION-A
Answer any FIVE of the following. (5x2=10)
1. What is Key Performance Indicator?
2. State the levels of Strategic Planning,.
3. What is Scenario Planning?
4  What is E-commerce?
5. What is Job Enrichment?
6. What is meant by Transactional Leadership? 3T ALOYSIUS COLLEGE LIBRAR
7. Whatis Supply Chain Management? e s s
SECTION - B
Answer any FOUR of the following. (4x12=48)
8. Bricfly explain the contents of a Project plan.
9. How do you manage change in the organization by using Kurt Lewin’s three stage
model?
10. What is E-business? Explain briefly its categories and scope of E-business.
11. Explain the capabilities required to sustain competitive advantage.
12. Determine the overall investment requirements of the business.
13. Explore the role of value chain in creating and sustaining competitive advantage.
SECTION-C
Answer any TWO of the following. (2x16=32)
14. Explain the approach to strategic planning with the help of Johnson, Scholes and
Whittington (J.S.W) Model.
15. What are the growth strategies that are explored through the use of Ansoff Matrix?
16. Assess the value of the four view (POPIT-People, Organization, Processes and

St Aloysius College (Autonomous)

Mangaluru
B.Com. ACCA - Semester - IV Degree Examination

July/August - 203 2/

Information Technology) model to the successful implementation of business

change.
Contd...2
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SECTION-D

(10
Answer the following: (Compulsory) )

ccounting de
Harriet has just been appointed to take charge of part of an g departmey,

: ating division of a
concerned with processing information from the operating large

; ined that t -
company. Based on her previous experience she has determi he FUnning

costs of the department are too high, due to absenteeism, lateness, low productivily
and time spent in correcting errors.

Investigation of the design of the jobs in the department reveals that each employe,
is trained in a task which is made as simple as possible. The equipment useq jg
maintained by a service department. Strict discipline ensures that clerks do ngt |
carry-on conversations during working hours, and tasks are performed in exactly |
the order and method laid down.

Harriet has decided that performance can be improved by changing the job design.
Assume that Harriet’s superiors approve the changes, that correct training is |
provided and that resistance by the clerks to change is properly overcome.

Required:

Discuss the likely consequences for organizations and employees of designing

jobs which are repetitive, routine and lacking in significant skill requirements.

X 3K K 3K 3k ok % ok %



r | }

Reg. No. :

G 302.4b
St Aloysius College (Autonomous)
Mangaluru
B.Com.— BPS - Semester IV - Degree Examination
July/August - 2202 2,
INSURANCE FOR BPS
Time: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is Free Look in Period?
2. What is morbidity?
3. What does contribution plan mean?
4. What is the concept of Health Care Insurance?
5. How is level of risk assessed?
6. What are Qualified Annuities? I ALOYSIUS COLLECT )
/. State any two characteristics of Insurance. ANC
SECTION - B
Answer any FOUR of the following. (4x12=48)
8. Explain briefly different types of risks.
9. What is Reinsurance? Explain the types of Reinsurance.
10. What is claim? What are the different types of Claims?
11. What are the principles of Group Insurance?
12. Explain the various provisions, clauses and options of Life Insurance policies.
13. Explain the advantages, limitations and importance of Retirement Planning,
SECTION - C
Answer any TWO of the following, (2x16=32)
14,

B
6.

Briefly explain the principles of a Insurance Contract,

Explain the varjoys types and provisions in Annuity Contract.

Describe three major types of Casualty Insurance with examples.
SECTION - D

Answer the following: (Compuls’ory) (10)

What are the 'ypes of coverage under Vehicle Insurance?

ok ok ok ok o ok ok
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St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester IV - Degree Examination
July/August - 2022

COST ACCOUNTING -I1I
Max Marks: 100

SECTION - A

Answer any FIVE questions of the following: (5x2=10)
Calculate economic batch quantity from the following:
Monthly demand for the component: 20,000 units, Setting up cost per batch
? 240, Annual rate of interest 6%, Cost of manufacture per unit ¥12.
What is Retention Money?
State any two objectives of budgetary control.
What do you mean by Cost Audit Programme?
State the meaning of Performance Budget.
List any two disadvantages of Cost Audit.
Distinguish between Normal Loss and Abnormal Loss.

SECTION - B

Answer any FOUR questions of the following:
Megha Limited manufactures product M3. An estimate of number of units

(4x12=48)

expected to be sold in the first seven months of 2020 is given below:

Product | January | February | March April May June July |

1400 1200 1000 800 800 500

M3 1400

units equal to half of the anticipated sales for the next month will be

Finished

in stock at the end of each month (including December 2019)

oduction and production cost for 2020 are as follows:

The budgeted pr
Product M3

Production (units)

: MANGALURL. 5=t o
Direct material per unit 719 GALURU- 575 nog
Direct wages per unit %7
Manufacturing charges
48,000

(Based on units produced)

Prepare

a) A Production budget showing the number of units to be manufactured

each month

b) A Production cost budget for six months ending 30" June 2020.

Contd...2
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St Aloysius College (Autonomous)
Mangaluru

B.Com. Semester 1V - Degree Examination

July/August - 2022
COST ACCOUNTING -II

ime: 3 hrs.

T T

Max Marks: 100
SECTION - A

Answer any FIVE questions of the following:
1. Calculate economic batch quantity from the following:

(5x2=10)

Monthly demand for the component: 20,000 units, Setting up cost per batch

¥ 240, Annual rate of interest 6%, Cost of manufacture per unit F12,
What is Retention Money?

State any two objectives of budgetary control.
What do you mean by Cost Audit Programme?
State the meaning of Performance Budget.
List any two disadvantages of Cost Audit.
Distinguish between Normal Loss and Abnormal Loss.
SECTION - B
Answer any FOUR questions of the following: (4x12=48)
8. Megha Limited manufactures product M3. An estimate of number of units

expected to be sold in the first seven months of 2020 is given below:

Product

January

February

March

April

May

June

July

-

M3

1400

1400

1200

1000

800

800

900

Finished units equal to half of the anticipated sales for the next month will be
in stock at the end of each month (including December 2019)

The budgeted production and production cost for 2020 are as follows:

Product M3
Production (units) 12,000 ST ALDYSIUS COLLECE 1.iRtra on
Direct material per unit %19 VIANGALURY- 5+ 5 =:; .
Direct wages per unit 27
Manufacturing charges
(Based on units produced) 48,000

Prepare

a) A Production budget showing the number of units to be manufactured
each month

b) A Production cost budget for six months ending 30™ June 2020.

Contd...2
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G 303.4

9. The following informati

14,

1l.

12,

13.

on relates to the manufacture of 2 component in 3

factory.
Cost of material ¥ 6.80 per unit
Operators wages 2 25 per hour
Machine hour rate ¥ 50

Setting up time of the machi

Time required for production is 10 minutes per unit.
Prepare a Cost Sheet showing the production cost and setting up cost and

cost per unit when the batch consists of 100 units and 1.-009 units.

ne is 2 hours and 20 minutes

The following expenses were incurred on Job Number 999 of Jewel Limited.

a) Materials ¥ 30,000
b) Wages paid:
Departments: A- 40 hours, Z 8 per hour
:B- 50 hours, ¥ 9 per hour
. C- 60 hours, 5 per hour
c) Works overhead of these departments were estimated as under:
Departments: A- ¥ 9,000 for 6,000 working hours
:B- 10,000 for 5,000 working hours
: C- 212,000 for 3,000 working hours
d) Office expenses were 290,000 when total wages paid in all the three
 departments came to %2,70,000.
It is the practice followed in the company to recover office overhead as 2
percentage of direct wages. You are required to calculate the cost of Job
Number, 999 and its price quoted which would yield 20% profit on selling
price.
Prepare Process Account, Abnormal Loss Account and Normal Loss Account
from the following information.
Input of Raw material: 1000 units @ ¥ 20 per unit

 Direct Material :%4,200/-

Direct Wages : Z6,000/-
Production Overheads %6,000/-

Actual output transferred to process II: 900 unit
Normal Loss 5% )

Value of Scrap per unit ¥ 8/-

contract costing. fit to profit and loss account in



Page No. 3

;3034 SECTION - C

Answer any TWO questions of the following: (2x16=32)
The finished product of a factory has to pass through three processes X Y, Z
to completion. The normal loss of each process is 2% in process X, 5% in
process y and 10% in process Z calculated on the input of each process.

The output of each process transferred to next process and the finished

duct are transferred from Process Z into stock. The following further

pro

information is obtained:

“particulars Process X | Process Y Process Z
- @) @) @
Materials used 24,000 12,000 12,000

“Direct Wages 16,000 10,000 8,000

“Manufacturing expenses 5,000 7,000 5,000
Scrap value per 100 units 10 40 20

Establishment expenses amounted to 8,500 to be apportioned on the basis

of direct wages. 20,000 units have been put into process X @ a cost of

360,000. The actual output of each process has been- sT ALOYSIUS COLLEGE LIERAR)
X- 19,600 units, Y- 18,400 units, Z- 16,700 units MANGALURU- 575 662
Prepare (a) Process Accounts (b) Normal Loss Account (c) Abnormal Loss
Account (d) Abnormal Gain Account

15. From the following Trial Balance of Shenoy Limited for the year ending
31-03-2022 draw up the Contract Account, Contractee’s Account and Balance

Sheet.

li Debit (%) Credit (%)
Cash received from contractee ¥ 9,60,000
Buildings 4,60,000
Creditors - 1,80,000
Bank 1,87,000
Share Capital 12,00,000
Materials 5,00,000

'Wages 4,50,000
Expenses 1,18,000

Plant 6,25,000

[ 23,40,000 23,40,000

Contd...4
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16.

17.

ials worth %4,25,000
The work on contract commenced 0On 1.4.2021. Materia

were sent to the site of the contract but those of 715,000 were destroyed. in
an accident. Wages of %4,50,000 were paid during the year. Z‘ant costing
¥1,00,000 was used on the contract for the whole year. Or-l 30" September
2021, plant costing ¥25,000 were destroyed due to fire. Plant wort.h
%5,00,000 were used from 1% April 2021 to 31%t pDecember 2021 and then it
was returned to stores. Material worth 10,00
2022. The contract price was ¥15,00,000 and contractee pays 80% of the
work certified. Uncertified work amounted to 337,500. Expenses charged to
the contract were 25% of wages. Plant is to be depreciated at 10% for the

0 were at site on 315 March

year.
Define Cost Audit? Explain the functions, duties and responsibilities of a cost
auditor.
SECTION-D
Answer the following: Compulsory
Prepare a cash budget of Vihaan Limited for April, May and June 2021

(10)

Months Sales (2) Purchases () | Wages (%) | Expenses (%)
Jan (Actual) 80,000 45,000 20,000 5,000
Feb (Actual) 80,000 40,000 18,000 6,000
March (Actual) 75,000 42,000 22,000 6,000
April (Budget) 90,000 50,000 24,000 7,000
May (Budget) 85,000 45,000 20,000 6,000
June (Budget) 80,000 35,000 18,000 5,000
Additional information: -

(i) 10% of the purchases and 20% of sales are for cash.

(i) The average collection period of the company is Y2 month and the
credit purchases are paid regularly after one month

(iii) Wages are paid half monthly and the ren:c of 2500. included in

expenses is paid monthly and other eéxpenses ar

e paid after one
month lag. P

(iv) Cash balance on April 1, 2021 may be amounted to be 215,000

ok ok o o o
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St Aloysius College (Autonomous) o
Mangaluru
B.Com. (ACCA) Semester IV - Degree Examination

July/August -0200‘1&)

CORPORATE REPORTING -1

Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the following.
1. Five Quarters has purchased 100% of the ordinary shares of Three Halves and

is trying to determine the fair value of the net assets at the acquisition date.
e. The fair

(5x2=10)

Three Halves owns land that is currently developed for industrial us
value of the land if used in a manufacturing operation is $5 million. Many
nearby plots of land have been developed for residential use (as high-rise

apartment buildings). The land owned by Three Halves does not have planning

permission for residential use, although permission has been granted for

similar plots of land. The fair value of Three Halves’ land as a vacant site for
transformation costs of $0.3

n. How

residential development is $6 million. However,
million would need to be incurred to get the land into this conditio

should the fair value of the land be determined?

2. Rudd enters into a contract with a customer to sell equipment on 31

December 20X1. Control of the equipment transfers to the customer on that

date. The price stated in the contract is $1 million and is due on 31 December

20X3. Market rates of interest available to this particular customer are 10%.

Explain how this transaction should be accounted for in the financial

statements of Rudd for the year ended 31 December 20X1.

3. Chive is an entity located in a country whose currency is dollars ($). All of its

equity shares are owned by an entity whose functional currency is the Euro.
Chive has very few transactions with its parent and acts with significant

autonomy. Seventy per cent of Chive's sales are denominated in dollars and

30% of them are denominated in sterling (£). Chive does not convert receipts
nto other currencies. Chive buys most of its inventories, and

from customers i
in sterling. Chive has two bank

pays for a large proportion of operating costs,
It has no intra-group loans. Both of its loans are

loans outstanding.
llars. What is the functional currency of Chive?

tributions to the pension fund of employees at a rate of
or convenience, the entity pays $10,000 per month into
h any balance being paid in the first month of the
The wages and salaries for 20X6 are $2.7 million.

e for 20X6, and the accrual/prepayment at the
i b v e C raryreer W
I — ST ALOYSIUS COLLEGE LIBRARY
MANGALURU- 575 003
L " e . contdullz

denominated in do
4. An entity makes con
5% of gross salaries. F
the pension scherne wit
following accounting year.
Calculate the pension €Xpens
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AS-41.
List out any two assets which are outside the SCOP€ of I

) ) intan ible
JonJon’s statement of financial position includes an int %lm“ar NP
uired from @ S|

t has asked the finance

asset. This asset

is a portfolio of individual customers acq
had gone into liquidation two years ago. The accountan
director why the asset has not been amortized in th
finance director replied that he changed the assessment O |  eround
this intangible asset from ‘finite’ to ‘indefinite’. He justified this O f g iy |-fs
that it is impossible to foresee the length of this intangible asset’s usetlli fife

i i and changin
due to a number of factors, such as technological evolution f g
er the accounting treatment of the

e current period. The
¢ the useful life of

consumer behaviour. Discuss wheth
intangible asset is in accordance with IFRS Standards.

On 1 January 20X1, Evans enters into a contract with a cus

monthly payroll services. Evans charges $120,000 per year. |
Required: What is the accounting treatment of the above in the financial

statements of Evans for the year ended 30 June 20X17?
SECTION - B

Answer any FOUR of the following.

The ACCA requires its members to adhere to a code of professional t-athics.
This provides a set of moral guidelines for professional accountants. Justify the

statement. :
On 1 January 20X1, Kingfisher enters into a four-year lease of property with

annual lease payments of $1 million, payable at the beginning of each year.
According to the contract, lease payments will increase every year on the
basis of the increase in the Consumer Price Index for the preceding 12

tomer to provide

(4x12=48)

months. The Consumer Price Index at the commencement date is 125. The
interest rate implicit in the lease is not readily determinable. Kingfisher's
incremental borrowing rate is 5 per cent per year. At the beginning of the
second year of the lease the Consumer Price Index is 140. Discuss how the
lease will be accounted for:

i) during the first year of the contract
ii) on the first day of the second year of the contract.,

An entity introduced an equity-settled share-based payment scheme on 1
January 20X0 for its 5 directors. Under the terms of the scheme, the entity will
grant 1,000 options to each director if they remain in employment for the next
three years. All five directors are expected to stay for the full three years. The
fair value of each option at the grant date was $8. On 30 June 20X1, the

entity decided to base its share-based Payment schemes on profit targets

instead. It therefore cancelled the existing scheme On 30 June 20X1, it paid
. - ) e ’ l

compensation of $10 per option to each of the 5 directors. Th Fai lue of
. e fair va



11.

12.

13,

G 303.4a Page No.3
On 1 December 20X1, Bristow provides a service to a customer for the next 12
months. The consideration is $12 million. Bristow is entitled to an extra $3
million if, after twelve months, the number of mistakes made falls below a
certain threshold. Required: Discuss the accounting treatment of the above in
Bristow’s financial statements for the year ended 31 December 20X1 if:

(a) Bristow has experience of providing identical services in the past and it is
highly probable that the number of mistakes made will fall below the
acceptable threshold.

(b) Bristow has no experience of providing this service and is unsure if the

number of mistakes made will fall below the threshold. > ALOYSIUS COLLEGE LIBR,

» (M3

a) Geranium’s production machinery has always been a]e\pre&a”téélonpa
straight line basis. At the start of the current reporting period, Geranium
decides that a depreciation method based on units of production would more
accurately represent the resources consumed. At this date, the carrying
amount of the production machinery was $2 million. However, if the
machinery had been depreciated using a units of production méthod since the
purchase date, it would instead have a carrying amount of $1.5 million. The
directors wish to charge $0.5 million additional depreciation to correct this

discrepancy. Discuss whether the directors of Geranium are correct.
(4 marks)

b) Preparers of financial statements should follow the requirements of IAS 8
Accounting Policies, Changes in Accounting Estimates and Errors when
selecting or changing accounting policies, changing estimation techniques, and

correcting errors. Discuss the role of judgement when selecting an entity’s

accounting policies. (8 marks)

Cryptocurrencies are digital currencies that operate independently of a central
bank. Some businesses now accept cryptocurrencies in place of traditional
currencies. The market price of crypto currency is highly volatile.

Investors can earn large returns by buying cryptocurrency on an exchange
when the quoted price is low and selling on an exchange when the quoted
s. Cryptocurrencies have proved problematic with regards to financial

price rise
ecause they do not seem to fall within the scope of an issued IFRS

reporting b
or IAS Stand
Conceptual Fra

ard. As such, preparers of financial statements must use the
mework to devise an accounting treatment that provides useful

information to financial statement users. Using the Conceptual Framework,

discuss how an entity might account for an investment in cryptocurrency that

it holds to trade.
Contd...4
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-C
SECTION (2x16=3;,

The purchase price was $2.9p,
| administrative costs allocated t,
tax of $0.5m, which wag
as attributed a useful life o

Answer any TWO of the following-

Cap bought a building on 1 January 20X1.
associated legal fees were $0.1m and genera
the purchase were $0.2m. Cap also paid sales

i ilding W
recovered from the tax authorities. The building TR M i
50 years. It was revalued to $4.6m on 31 Decem

achine on 1 January 20X3 for
$5m on 31 December 20X5. Cap purchased a M
life of 10 years. On 1 January 20xs,
$100,000 and attributed it with a useful li il
Cap reduced the estimated remaining useful life to 4 Y _
; f property, plant and equipment
Required: Explain how the above items O P : sl i
would have been accounted for in all relevant reporting per P until 31
December 20X5.
(a) An entity, Waiter, has a reporting date of 31 December and the dollar ($)
as its functional currency. Waiter borrows in the foreign currency of the Kram
(K). The loan of K120,000 was taken out on 1 January 20X7. A repayment of
K40,000 was made on 1 March 20X7.
Exchange rates were as follows:
1 January 20X7 - K1: $2
1 March 20X7 - K1: $3
31 December 20X7 - K1: $3.5
Required: Describe how the above should be accounted for in the financial
statements of Waiter for the year ended 31 December 20X7
(b) An entity, Attendant, has a reporting date of 31 December and has the
dollar ($) as its functional currency. Attendant purchased a plot of land
overseas on 1 March 20X0. The entity paid for the land in the currency of the
Rylands (R). The purchase cost of the land at 1 March 20X0 was R60,000. The

value of the land at the reporting date was R80,000. Exchange rates were as
follows:

1 March 20X0 - R8 : $1
31 December 20X0 - R10 : $1

Year ended 3 € the
land is measured at: 1 December 20X0 if th
e cost

e fair value.

Contd..



303.4a
G Page No.5

_ The following information relates to the defined benefit pPlan operated by Arc
for the year ended 30 June 20X4:

“particulars T sM |
FV of plan assets b/fwd at 30 June 20X3 2,600 |
PV of obligation b/fwd at 30 June 20X3 2,000 :
Current service cost for the year 100
“Benefits paid in the year 80
Contributions into plan 90 |
"FV of plan assets at 30 June 20X4 3,100 .
PV of plan obligation at 30 June 20X4 2,400
Lﬁiscount rate for the defined benefit obligation 10% |

Arc has identified that the asset ceiling at 30 June 20X3 and 30 June 20X4,
based upon the present value of future refunds from the plan and/or
reductions in future contributions amounts to $200m at 30 June 20X3 and 30
June 20X4.

Required: Explain, with supporting calculations, the accounting treatment of

the pension scheme for the year ended 30 June 20X4.
>T ALOYSIUS COLLEGE LIBRARY
MIANGALURU- 575 003

SECTION - D
Answer the following: (Compulsory) (10)

Totorus has a number of investments in listed shares that are designated to
be measured at fair value through other comprehensive income. A new ACCA
qualified accountant has started work at Totorus and she has discovered that
the finance director measures the fair value of these investments as the
present value of the expected future dividend receipts. This calculation gives a
higher fair value figure than the quoted share price. The finance director has
justified this fair value measurement to the accountant on the grounds that
Totorus does not trade shares in the short-term and so quoted share prices
understate the value that Totorus will realise over the lifetime of these
investments. Discuss why the finance director’s fair value measurement is not

in line with IFRS Standards, and discuss the ethical issues that arise.

ok ok ok ok ok ok ok %k %k
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;304'4 Reg. No. : I l
St Aloysius College (Autonomous)
Mangaluru
B.Com. Semester IV - Degree Examination
July/August - 2022
INCOME TAX - 11
rime: 3 hrs.

o n s W

SECTION - A

Answer any FIVE questions of the following:

(5x2=10)

State any two expenses that are fully disallowed in the assessment of

business?

Give the meaning of Block of Assets.
What is a short term capital asset?

What is meant by grossing up of interest?

State the meaning of Bond washing transaction.
write four deduction u/s 80G for which 50% deduction is allowed without

limit?

ST ALOYSIUS COLLEGE LIBRARY

MANGALURU- 575 0023

Give the meaning of rebate of tax for individual assessee.

SECTION -

Answer any FOUR questions of the following:
From the following information compute the amount of depreciation
allowance allowable to XY & Co., a Chartered Accountants concern, for AY

(4x12=48)

2022-23.
Particulars | Rate of ‘ WDV on |
depreciation| 1-4-2021 |
(%) |
Computers 40 1,40,000 |
Typewriters 15 30,000_}
Furniture & fittings 10 1,00,0004
Office building 10 5,00,000 |
Staff quarters — area not exceeding . 15,00,000
80 sg. metre.
Purchased a new computer during the PY i
% 60,000, on 1% January 2022
Sold old office building for Z 15,00,000
' and purchased a new office building for -
Z 40,00,000 in December 2021
Purchased books for professional - J
|

purposes Z 40,000, on 15t July 2021

Mr. X purchased a house on 01.04.2001 for ¥ 2,00,000. It was received by
his son Mr. Y on 01.07.2011 and Mr. Y incurred ¥ 4,00,000 on improvement
on 01.07.2013. House was sold by him on 01.07.2021 for ¥1,00,00,000.

Compute taxable capital gain for the AY 2022-23.
The cost inflation index for FY are 2001-02 is 100, 2011-12 is 184, 2013-14

is 220, 2021-22 is 317.

Contd...2
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as the income
10. In what circumstances, is the income of one person treated of

another?

Y, calculate
11. The particulars of income of Mr Ashok are as follows for the A

total taxable income and tax liability.

i
ii.
iii.
iv.
V.
Vi.

Vii.

12. Mr.

Business Income ¥ 5,56,900.

Income from house property (computed) X 24,000.

Short term capital gains u/s 111A'is Z 15,000.

Long term capital gains ¥ 12,000.

Interest on government securities ¥ 20,000.

Lottery winning (net) ¥ 70,000.

Winning from crossword puzzles (gross) 1,000

He has paid life insurance premium amounting Z 5,000.

He pays 2 10,000 as payment of interest and ¥ 30,000 principal for
the housing loan taken.

Vaman Rao, a resident individual, submits the following information:
a) Income from salary ¥ 4,50,000.

b) Income from house property ‘A’ % 30,000.

c) Loss from house property ‘B’ ¥ 34,000.

d) Income from interest on securities ¥ 20,000.

e) Loss from a Cycle business 2 20,000.

f) Profit from steel business ¥ 10,000.

g) Profit from speculation business ¥ 25,000.

h) Loss from short term capital asset  6,000.

i) Long term Capital loss % 25,000.

j) Long term capital gain ¥ 21,000.

k) Income from crossword puzzles (net of TDS 2 9,000) ¥ 21,000.

Compute Total Income.

13. The gross total income of Mr. Ashrith for AY is 3 25,00,000, which included

ii.
iii.
iv.
V.
vi.
Vil.
viii.

Compute total income, assuming that M, Ashri

long term capital gain of ¥ 2,50,000. He made the following donations.
ks

National Defense fund ¥ 10,000.
National fund for control of drug abuse ¥ 40,000

Central fund for technology development and application ¥ 1,00,000.
Indira Gandhi Memorial Trust 3 30,000.

To local college for the construction of auditorium 2 15.000
Approved charitable institution 7 1,00,000 |

state-Government fund for medical relief to poor ¥50,000
To primary health centre for promotion of gy

i family planning 210,000.
During the year he paid 3 26,000 as me y planning 2

dical insurance premium.
th is a non -senior citizen.

contd.+3
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SECTION - C

Answer any TWO questions of the following: (2x16=32)
14, From the following profit and loss account of a business, ascertain the

taxable profit from business and gross total income:

4 4
"Office salaries 10,000 | Gross profit 2,57,320 |
“Proprietary salary 5,000 | Long term Capital gain 25,000 |
' on sale of residential
house
Interest on proprietors 2,000 | Interest on government 4,500
1 capital securities
|_anera| expenses 5,000 | Dividends 3,200 |
| Bad debts 2,000 | Interest from post office Z;OOT
l’ savings bank a/c
' Advertisements 4,500 ﬁl
Fire insurance premium 2,000
Depreciation 4,000
Reserve for future losses 10,000 | _ |
Income tax on last 4,000 ST ALOYSIUS COLLEG £ L !_:'.‘;R,-n‘\‘-
assessment v;‘\?l:“‘;l.{.lji" 343 ({3 l
Advance income tax paid 2,000 \
Donation to Mysore 1,000 !
University (National
Eminence)
Legal charges for 500
defending suit for alleged

breach of a trading

contract
Motor car expenses 1,000
' Net profit 2,39,020
172,92,020 ‘ 2,92,020

Additional information:

i. General expenses include ? 1,000 paid as compensation to an old
employee whose services were terminated as his continuance in service
was considered detrimental to the profitable conduct of the company'’s
business and Z 2,000 by way of help to a poor college student.

ii. The depreciation is found to be in excess by ¥ 1,800.

iii. The advertisement cost includes calendars and diaries ¥ 1,500.

iv. Motor car expenses include 500 as motor car expenses for private use.

v. The assesse has received demand notices of sales tax for earlier years
amounting to ¥ 10,000 and has not disputed the liability, reserve for
future losses is meant for this liability.

Contd...4
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15. Mr Naresh has the following investments/incomes in the previous year

a) ¥ 15,000, 10% central government securities.

b) % 36,000, 10% commercial securities.

€) ¥ 30,000, 13.5% debentures of Reliance industries.

d) ¥ 25,000, 14% debentures of Srinidhi Chemicals (listed)-

e) ¥ 10,000 in POSB a/c which earns interest at 5% p.a.

f) % 20,000 units of U.T.I (dividend received Z 2,000).

g) 2 8,970 as interest received on debentures of local authority.

h) 2 5,000 as interest received on Karnataka Government Bonds.

i) 6,000 interest on tax free Government of India bonds.

j) 5,000 dividend received from a Co-operative society.

k) Interest on deposit under National Deposits Scheme  8,000.
On 15™ November, 2021 he sold debentures of Reliance Industries at
a profit of ¥ 2,000 and purchased ¥ 50,000, 9% Indian Railway Bonds
for ¥ 48,000. For this purpose he borrowed Z 20,000 from his friend,
and paid 2,000 interest in the PY. The bank commission for collecting
the interest was ¥ 300,

Interest is payable on 1% July and 1% January every year.
Compute his income from other sources.

16. Explain the provisions relating to, capital gain exemptions U/S 54 EC, 54 F
and 54 G.
SECTION - D
Answer the following: Compulsory (10)
17.

Mr. Rakesh (Non Senior citizen) submits the following information relevant
for AY 2022-23, compute total income and tax liability.

i) Business income % 3,00,000.

i) Rent from house property  80,000. Interest on housing loan ¥40,000.
i) Long term capital gains ¥ 60,000.

iv) Interest on Savings Bank Deposit a/c 3 8,000.

v) Income from units of mutual fund 3 6,000.

vi) Income from lottery (net) ¥ 42,000.

vii)He made following payments:

a) Medical insurance premium paid by cheque for self ang children
2 28,800.

b) Life insurance premium ¥30,000.
viii)  During the year he made following donations:

a) Swatch Bharath Abhiyan Kosh 210 000
b) Promotion of family Planning #15 000

ok ok ok ok o o o
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St Aloysius College (Autonomous)

Mangaluru
B.Com. (Vocational) Semester IV - Degree Examination

July/August - 2024,
FINANCIAL ACCOUNTING - II
Time: 3 hrs. Max Marks: 100

SECTION - A
Answer any FIVE of the following. (5x2=10)

1. X Ltd purchased debentures worth Rs. 10 Lakhs of Y Itd which are highly
liquid and redeemable within 3 months. How will you show this item as per
Cash flow Statement?

2. How do we value Raw Materials as per AS 2?

3. State the Recognition Criteria for PPE as per AS 10.

4. Meaning of bonus share?

ST ALOYSIUS COLLEGE LIBRARY
5. Meaning of Time ratio and Sales ratio? MANGALURU- 575 063
6. Methods of Redemption of Debenture?
7. Meaning of Redemption of Preference share?
SECTION - B
(4x12=48)

Answer any FOUR of the following.
8. a. On 31% March 2022, a business firm finds that the cost of a party finished

unit on that date is Rs. 530. The unit can be finished in 2022-23 by an

additional expenditure of Rs. 310. The finished unit can be sold for Rs. 750

subject to 5% brokerage on selling price. The firm seeks your advice

regarding the amount at which the unfinished unit should be valued as on 31+

March 2022.

b. Find out the total cost of the inventory per kg of finished goods. The costs

incurred are:
- Material Rs. 2000 per kg
- Direct Labour Rs. 400 per kg

- Direct Variable Overhead Rs. 200 per kg

- Fixed production overhead Rs. 200 Lakhs for normal working capacity of 2

Lakh kgs. Actual production was 3 lakh kgs.

contd...2
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10.

11.
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. t of Solid Ltd. as at 31st March,
ee

20X1: i RS Rs.
R

Authorised capital : 1,00,000

each
10,000 12% Preference shares of Rs. 10 10,00,000
1,00,000 Equity shares of Rs. 10 each 11,00,000
i ital:
Issued and Subscribed capi h fully paid 80,000

8,000 12% Preference shares of Rs. 10 €ac

90,000 Equity shares of Rs. 10 each, Rs. 8 paid up 7120000

Reserves and Surplus : 1,60,000

General reserve 35,000

Revaluation reserve

Securities premium (collected in cash) Sk i)
2,05,000

Profit and Loss Account
Secured Loan:

12% Debentures @ Rs. 100 each 5,00,000
On 1st April, 20X1 the Company has made final call @ Rs. 2 each on 90,000
equity shares. The call money was received by 20th April, 20X1. Thereafter

the company decided to capitalise its reserves by way of bonus at the rate
of one share for every four shares held. Show necessary entries in the
books of the company and prepare the extract of the Balance Sheet
immediately after bonus issue assuming that the company has passed

necessary resolution at its general body meeting for increasing the
authorised capital.

Calculate the cost of the machinery to be Capitalized in the boo

ks as per AS
10:
a. List price of the machinery - Rs. 55,00,000
b. GST included in the above - Rs, 3,00,000
c. Import Duty - Rs. 2,00,000
d. Electrical Installation Cost - Rs. 65,000
e. Purchase of a 5 year maintenance contract from vendor - Rs, 80,000

f. Settlement discount received on list price - Rs, 1 10,000

Trade discount received on |ist Price - Rs. 2,25 000

Sencom Limited (listed Company) issued Rs.
September 20X0 on which interest is payabl
30th September. The cOmpany has power to

1,50,000 594 Debentures on 30"
e half yearly on 31st March and




12.

13.
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1st March 20X2 - Rs. 25,000 nominal value purchased for Rs. 24,725 ex-
interest. 1st September 20X2 - Rs. 20,000 nominal value purchased for Rs.
20,125 cum-interest. You are required to draw up the following accounts up
to the date of cancellation:

Debentures Account; and Own Debenture (Investment) Account. Ignore
taxation.
Rama Udyog Limited was incorporated on August 1, 20X1. It had acquired
a running business of Rama & Co. with effect from April 1, 20X1. During the
year 20X1-X2, the total sales were Rs. 36,00,000. The sales per month in the
first half year were half of what they were in the later half year. The net
profit of the company, Rs. 2,00,000 was worked out after charging the
following expenses:

() Depreciation Rs. 1,23,000, (ii) Directors’ fees Rs. 50,000,
(iii) Preliminary expenses Rs. 12,000, (iv) Office expenses Rs. 78,000,
(v) Selling expenses Rs. 72,000 and (vi) Interest to vendors upto
August 31, 20 X1 Rs. 5,000.
Ascertain pre-incorporation and post-incorporation profit for the year
ended31%* March, 20X2.
Following is the cash flow abstract of Tee Ltd for the year ended 31 March
2022. Prepare the Cash flow statement.

= Opening balance of Cash in hand Rs. 10,000

A 1ty aw ’ F o
MANCGALURU- 575 0

+ Shares issued Rs. 5,00,000 v
* Trade Receivables collected Rs. 3,50,000

= Sale of PPE Rs. 70,000

* Trade payables paid Rs. 90,000

= Salaries and Wages Rs. 25,000

* Payment of other overheads Rs. 15,000

* PPE acquired Rs. 4,00,000

* Debentures redeemed Rs. 50,000

* Tax paid Rs. 55,000

SECTION - C

Answer any TWO of the following. (2x16=32)
The partners of Maitri Agencies decided to convert the partnership into a
Private |imited company called MA (P) Ltd. with effect from 1st January,
20X2. The consideration was agreed at Rs. 1,17,00,000 based on the
firm’'s Balance Sheet as at31st December, 20X1. However, due to some
Procedural difficulties, the company could be incorporated only on 1st April,
20X2,

Contd...4
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Meanwhile the business was 0 _
t day W!

_ by the
ntinued DY J0x3 and gives the following

ntinued on be

th inter
consideration was settled on tha

same books of account were €O G
. a
account for the first time on 31st '

information: SE— e

s

| | 2,34,00,000

Sales 1,63,80,000

Cost of goods sold
i 11,70,000
alari

1,80,000

Depreciation 7'02 e
Advertisement e

1,70,000

Discounts 1 00
Managing Director’s remuneration 90,

Miscellaneous office expenses 1,20,000

Office-cum-show room rent 7,20,000

| Interest 9,51,000

The company’s only borrowing was a loan of Rs. 50,00,000 at 12% p.a. to pay

the purchase consideration due to the firm and for working capital
requirements.

The company was able to double the average monthly sales of the firm, from
1st April, 20X2 but the salaries tripled from that date. It had to occupy

additional space from 1st July, 20X2 for which rent was Rs. 30,000 per
month.

Prepare statement of apportioning cost and revenue between pre-incorporation

and post-incorporation periods and calculation of profits/losses for such
periods.

YZ Ltd (an unlisted company other than AIFI,

Banking company, NBFC
and HFC)had 16,000, 12%

debentures of Rs. 100 each outstanding as on 1*
April, 20X1, redeemable on 31% March, 20x2.

On 1 April 20X1, the following balances appeared in the books of accounts-
Investment in 2,000 9% secured Govt. bonds of Rs. 100 each DRR is Rs

1,00,000. Interest on investments is received yearly at the end of financial

2,000 own debentures were purchased on 31%

; March 20x%2 e
price of Rs. 99 and cancelled on the same date Y

On 30 March 20X2, the investments were realj

were redeemed on 31 Sed at par and the debentures

March, 20X2. Yoy
: ! ' are requi
following accounts for the year ended 31% Mar €quired to write up the

ch 20%2-
a) 12% Debentures Account X2:

b)  Debenture Redemption Reserve Account
c) Debenture Redemption Investments Account

Contd...5
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46. Sona Ltd acquired a machinery for Rs. 50,00,000 five years ago.

17.

Depreciation was charged at 10% SLM for a useful life of 10 years. 2 years
after acquisition, the company revalued the Machinery to Rs. 60,00,000 and
created a revaluation reserve to that extent. Depreciation was provided on the
revalued amount over the balance useful life of 8 years. The machinery was

sold in the current year for Rs. 11,25,000. Give the accounting treatment for
the above in the books of accounts.

SECTION - D

Answer the following: (Compulsory) (10)
C Limited had 3,000, 12% Redeemable Preference Shares of Rs.100 each,
fully paid up.The company had to redeem these shares at a premium of
10%.

It was decided by the company to issue the following:
() 25,000 Equity Shares of Rs.10 each at par, ST ALDYSIUS COLLEGE LIBRARY
(i) 1,000 14% Debentures of Rs.100 each. VIANGALURU- 575 GO3

The issue was fully subscribed and all amounts were received in full.

The payment was duly made. The company had sufficient profits.

Show Journal Entries in the booksof the company.
s % 5k K % % % X K K
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ALLIED BUSINESS LAWS
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12,
13.

14,

12.

SECTION - A
Answer any FIVE questions of the following: (5x2=10)
What is @ Continuing Guarantee?

Write any 2 features of a Contract of Indemnity.
Mention any 2 features of Bailment.

Whok B IMERRT By SNCSINAMENTE ST ALOYSIUS COLLEGE LIBRAR)
Who can be an agent? VIANGALURU- 575 l
What is meant by a promissory note?

Who is a substituted agent?

SECTION - B
Answer any FOUR questions of the following: (4x12=48)
What are the rights of a Surety?
a) Mention any 4 features of Negotiable Instruments. (4 marks)
b) What are the duties of a Bailor? (8 marks)
Elaborate on the differences between General Lien & Particular Lien.
a) What is meant by crossing of a cheque? What are the types of crossing?

b) Write a short note on Dishonor of a Cheque.
Write a short note on Ratification in a contract of Agency?

Explain the following terms:

a) Holder (3 marks)
b) Inchoate Instruments (3 marks)
c) Inland Instruments (3 marks)
d) Bills of exchange (3 marks)
SECTION - C
(2x16=32)

Answer any TWO questions of the following:

What are the cases when the surety gets discharged from the contract of

Guarantee?

a) Pranav (Minor)
on the surety given by Mr. Vignesh, (a major). Pranav did not pay for the
mobile, The mobi
because the contrac

argued that he is not
(Principal Debtor) is not liable. Whether the argument is correct under the

Indian Contract Act, 1872.

purchased a smart phone on credit from a mobile dealer

le dealer demanded the payment from Mr. Vignesh
t entered with Pranav (minor) is void. Mr. Vignesh
liable to pay the amount since Pranav

Vignesh and Pranav both are minor? (5 marks)

What will be your answer if
Contd...2
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b) A Signs his name on a blank cheque with 'not negotiable crossing’ Which
he gives to B with an authority to fill up a sum of 330,000 only. But B fig it
for 250,000. B then endorsed it to C for a consideration of 25000 who tajq,
it in good faith. Examine whether C is entitled to recover the full amount of
the instrument from B or A as per the provisions of the Negotiap
Instruments Act, 1881, (6 marks)

€) Mr. S owns a chicken firm near Gurgaon, where he breeds them and sq|
€99s and live chicken to retail shops in Gurgaon. Mr. Flock also owns ,
similar firm near Gurgaon, doing the same business. Mr. Flock had to go bacy
to his native place in Australia for one year. He needed money for trave|, g4
he had pledged his firm to Mr. S for one year and received a deposit of 325
lakhs and went away. At that point of time, stock of live birds were 100,000
and eggs 10,000. The condition was that when Flock returns, he will repay
the deposit and take possession of his firm with live birds and eggs.
After one year Flock came back and returned the deposit. At that time there
were 109,000 live birds (increase is due to hatching of eggs out of 10,000
€ggs he had left), and 15,000 eggs.
Mr. S agreed to return 100,000 live birds and 10,000 eggs only.
State the duties Mr. S as Pawnee and advise ‘Mr. Flock about his rights in the
given case. (5 marks)
Write a short note on Sub - Agents. How are they different from Substituted
agents?
SECTION - D
Answer the following: Compulsory (10)
Discuss with reasons, whether the following persons can be called as a
'holder' under the Negotiable Instruments Act, 1881:
(i) X who obtains a cheque drawn by Y by way of gift.
(ii) A, the payee of the cheque, who is prohibited by a court order from
receiving the amount of the cheque.
(iii) M, who finds a cheque payable to bearer, on the road and retains it.
(iv) B, the agent of C, is entrusted with an instrument without indorsement
by C, who is the payee.

(v) B, who steals a blank cheque of A and forges A's signature.

* % 3k % % % K K ok ok
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B.Com. (Vocational) Semester 1V - Degree Examination
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INCOME TAX - II

rime: 3 hrs. Max Marks:100

SECTION - A

Answer any FIVE of the following. (5x2=10)

1. Mr. Mayank has received a sum of ¥ 75,000 on 24.10.2021 from his
friend on the occasion of his marriage anniversary. What would be the

taxability of the said sum in the hands of Mr. Mayank?
(a)  Entire ¥ 75,000 is chargeable to tax

(b)  Entire ¥ 75,000 is exempt from tax

(c)  Only X 25,000 is chargeable to tax

(d)  Only 50% le., ¥ 37,500 is chargeable to tax

2. Mr. Aarav gifted a house property valued at ¥ 50 lakhs to his wife,
Geetha, who in turn has gifted the same to her daughter-in-law

Deepa. The house was let out at ¥ 25,000 per month throughout the

P.Y.2021-22. Compute income from house property for A.Y.2022-23.
In whose hands is the income from house property chargeable to tax?

(@ ¥ 3,00,000 in the hands of Mr. Aarav

(b) % 2,10,000 in the hands of Mr. Aarav ST ALOYSIUS COLLEGE LIBRARY

NGALURU- 575 003

() ¥ 2,110,000 in the hands of Geetha
(d) % 2,10,000 in the hands of Deepa

3. Mrs. Shivani, wife of Mr. Anurag, is a partner in a firm. Her capital
contribution is ¥ 5 lakhs to the firm as on 1.4.2021 which includes
¥ 3.5 lakhs contributed out of gift received from Anurag. The firm paid
interest on capital of ¥ 50,000 and share of profit of ¥ 60,000 during
the F.Y.2021-22. The entire interest has been allowed as deduction in
the hands of the firm. Which of the following statements is correct?

(@)  Share of profit is exempt but interest on capital is taxable in the
hands of Mrs. Shivani.

(b)  Share of profit is exempt but interest of ¥ 39,286 is includible in
the income of Mr. Anurag and interest of ¥ 10,714 is includible
in the income of Mrs. Shivani.

(©)  Share of profit is exempt but interest of ¥ 35,000 is includible in
the income of Mr. Anurag and interest of ¥ 15,000 is includible
in the income of Mrs. Shivani.

(d)  Share of profit to the extent of ¥ 42,000 and interest on capital to
the extent of ¥ 35,000 is includible in the hands of Mr. Anurag.

Contd...2
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h. His total income is

(@ 60,000
(b) T32,000
() ¥70,000
(d)  Nil

Mr. Shiva made a donation of ¥ 50,000 to PM cares Fund and 4 2i0,00(z
to Rajiv Gandhi Foundation by cheque. He made a cash donatG or:.r :
T 10,000 to a public charitable trust registered under section 80G. The
deduction allowable to him under section 80G for A.Y.2022-23 is —

(a) T 80,000

(b) ¥ 70,000
(©0 ¥ 60,000
(d ¥ 35,000

Mr. Uttam presents you the following data related to his tax liability for
AY. 2022-23:

T hw, o
ff% ;Lgk!%;ﬁ

Act, 1961 15

Tax Liability as per section 115JC 12

AMT credit brought forward from A.Y. 2021-22 B

What shall be the tax liability of Mr. Uttam for A.Y. 2022-237?
(a) < 12 lakhs

(b) % 15 lakhs
(c) % 10 lakhs
(d) % 7 lakhs

Mr. A, whose total sales is ¥ 201 lakhs, declares profit of ¥ 10 lakhs for
the F.Y. 2021-22. He is liable to pay advance tax -

(a) in one instalment
(b) in two instalments
(c)  inthree instalments

(d) - in four instalments

Contd...3
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SECTION - B

Answer any FOUR of the following. (4x12=48)

The following are the details relating to Mr. Srivatsan, a resident Indian, aged 57,
relating to the year ended 31.3.2022:

»«'{":ig -5 £ =

;ncc;me from salaries (computed) - | 2’ éb,'000

' Loss from house property ; 1,90,000 |
Loss from cloth business g 240,000 :‘
' Income from speculation business |! 30,000
' Loss from specified business covered by section 35AD I 20,000 |
' Long-term capital gains from sale of urban land ‘ 2,50,000 g
Loss from card games 32000
Income from betting (Gross) i 45,000
 Life Insurance Premium paid (10% of the capital sum assured) | 45,000

Compute the total income and show the items eligible for carry forward, assuming
that he does not opt for the provisions of section 115BAC.
Mr. A furnishes you the following information for the year ended 31.03.2022:

r'_;'——--:_._ u ‘:"— RS T S FUSRST et Bl Ry | A nrhs

»

. e A e e

(i)  Income from plying of vehicles (computed as per books) | 3,20,000 |
(He owned 5 light goods vehicle throughout the year) '

(it) Income from retail trade of garments | |
(Computed as per books) (Sales turnover ¥ 1,35, 70,000) ' 7,50,000 :

' Mr. A had declared income on presumptive basis under section ‘ |

| 44AD for the first time in AY. 2021-22. Assume 10% of the | |
turnover during the previous year 2021-22 was received in | ;

' cash and balance through A/c payee cheque and all the | ',

' payments in respect of expenditure were also made through
A/c payee cheque or debit card.

\
i :
(iii) | He has brought forward depreciation relating to AY. 2020-21 | 1,00,000 |

Compute taxable income of Mr. A and his tax liability for the assessment year 2022-

23 with reasons for your computation, assuming that he does not opt for section

T15BAC. ST ALOYSIUS COLLEGE LIBRARY

MANGALURU- 575 002

For the Assessment year 2022-23, the Gross Total Income of Mfr. Chaturvedi, a
resident in India, was ¢ 818240 which includes long-term capital gain of
¥ 2,45,000 taxable under section 112 and Short-term capital gain of ¥ 58,000. The
Gross Total Income also includes interest income of & 12,000 from savings bank
deposits with banks and ¢ 40,000 interest on fixed deposits . with banks.
Mr. Chaturvedi has invested in PPF T 1,20,000 and also paid a medical msurance
premium ¥ 51,000. Mr. Chaturvedi also contributed ¢ 50,000 to Public Charitable
Trust eligible for deduction under section 80G by way of an.accoupt payee chelc;u:;
Compute the total income and tax thereon of Mr. C haturvedi, who is 70 years 0

on 31.3.2022. Ignore the provisions of section 115BAC.
Ccontd...4
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: lowin
shes you the fol g
" d ufacture and wholesale trade furnt
Ashwin doing man

information:

Total turnover for the financial yeqr

R N T VT T AL “:‘.'“"‘_:"( TURAGH
e ‘%“C@ﬂi’*’él L e RS,
| 2020-21 i 1,05,00.0f;?J
[2021-22 95,00,000

i ei ed for the below said
Examine whether tax deduction at source provistons aré attracted fi

: ; -22!
expenses incurred during the financial yei:g?m 2 BRI T A R OO |
e O R e 1 e et P
LTRSS S e ;“;‘;‘:;f A . 41,000
nterest paid to UCO Bank on 15.8. i 00
Contract payment to Raj (2 contracts of ¢ 12,000 each) on t e
| 12.12.2021 |

"
:,.';\

4

P | 2,50,000
| Shop rent paid (one payee) on 21.1.2022 7 Gt
| Commission paid to Balu on 15.3.2022 ! ‘
L—_\_..\v.___.___.-,,.,._‘- -

Mr. Sukhvinder is engaged in the business of plying goods Cflrriages. On 7% A;?n‘l,
2021, he owns 10 trucks (out of which 6 are heavy goods vehicles, the gross vehicle
weight of such goods vehicle is 15,000 kg each). On 2™ May, 2021, he sold one of

the heavy goods vehicles and purchased a light goods vehicle on 6" May, 2021. This
new vehicle could however be put to use only on 15" June, 2021.

Compute the total income of Mr. Sukh

vinder for the assessment year 2022-23,
taking note of the following data:

Examine, with reasons, the allowability of the following expenses under the Income-
fax Act, 71961 while computing in

come from business or profession for the
Assessment Year 2022-23:

@ Provision made on the basis of actuarial valuation for payment of gratuity
¥ 5,00,000. However, no Payment on account of gratuity was made before
due date of filing return.

(i)  Purchase of oil seeds of ¥50,000 in cash from q

farmer on a banking day.
(i) Tax on non

~Mmonetary perquisite provided to an employee ¥ 20,000.
(iv)  Payment of 50,000 by using credit card

(v)  Salary payment of ¥4,00,000 to Mr. X outsid

(vQ)  Payment made in cash ¥

Contd...5
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SECTION - C

Answer any TWO of the following.

| | (2x16=32)
14, Miss Charlie, an American national, got married to Mr. Radhey of India i

2.03.2021 and came to India for the first time on 16.03.2021. She lefltafm SSA on
19.9.2021. She returned to India again on 27.03.2022. Whi.le in Indiaor hSAhon
purchased a show room in Mumbai on 30.04.202 1, which was leased’ osute t -
company on a rent of ¥ 25,000 p.m. from 1.05.2021. She had taken loan fro:z -
bank for purchase of this show reom on which bank had charged interest oaf

7 97,500 upto 31.03.2022. She had received the followin '
' cash
relatives and friends during 1.4.2021 to 31.3.2022: g LS strom by

- From parents of husband 517,000

¢11,000
- From two very close friends of her husband (¥1,51,000 and #2 1,000) ¢1,72,000

- From married sister of husband

(@) Determine her residential status and compute the total income chargeable to tax

along with the amount of tax liability on such income for the Assessment Year
2022-23.

(b) Would her residential status undergo any change, assuming that she is a person of

Indian origin and her total income from Indian sources is ' 18,00,000 and she is
not liable to tax in USA?

15, Ms. purvi, aged 55 years, is a Chartered Accountant in practice. She maintains her

accounts on cash basis. Her Income and Expenditure account for the year ended
March 31, 2022 reads as follows:

(S Bxpenditare 5 Doy | wingomtel . i AB i 4D
Salary to staff 15,50,000 Fees earned: |
Stipend to articled | 1,37,000 Audit | 27,88,000 |
Assistants | ' Taxation services | 1540,300 § |
Incentive to articled 13,000 | Consultancy | 12,70,000 | 55,98,300
Assistants ,  Dividend on | 10,524
. ~shares of X Ltd., |
| an Indian |
| , ' company (Gross) | ; |
Office rent . 12,24,000 Income from UTI | z 7,600 |
| ' (Gross) | f |
Printing and | 12,22,000 | Honorarium | t 15,800 |
stationery | | rece.ived from | |
l | - various 1 ; ;
institutions  for | |
! | valuation of 1
, ; answer papers
Meeting,  seminar ' 31,600 ; Rent receiv?d ! R 3
' and conference 1 from residential | :
| , | flat let out '-
Z?ﬁr;’;?s:s;f siie] W | ST ALOYSHUS COLLEGE LIBRARY
! Repair, 4,000 : ! VIANGALURY- 575 003
. maintenance ‘ -, ';
| and petrol of car ; | | i
Travelling expenses | 525,000 : '
- Municipal tax paid | 3,000 |
in respect of house |
| property k r : ’
| i ' S
' Net Profit | i :lf,:'i,;:._; 57’17’!—2!

{
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+h Frozen Foods Ltd,
16.  Ramdin, aged 33 years, working as Manager (Sales) with

1.03.2022:
provides the following information for the year ended 3

Z 15,000 p.m.
- Basic Salary £ 12,000 p.m.
—~ DA (50% of it is meant for retirement benefits) 5%
—  Commission as a percentage of turnover ofthelCopaty 50 lacs
~ ';urnover of the Company #50,000
- onus

¥30,000

- Gratuity 730,000
—  Own Contribution to R.P.F. ) ‘ I
- Employer’s contribution to R.P.F. 20% of basic salary
—  Interest credited in the R.P.F. account @ 15% p.a. ERab0e

- Gold Ring worth 10,000 was given by employer on his 25™ wedding anniversary.

~ Music System purchased on 01.04.2021 by the company for ¥ 85,000 and was
given to him for personal use.

—  Two old light goods vehicles owned by him were leased to a transport ccfmpany
against the fixed charges of 6,500 p.m. Books of account are not maintained.

~  Received interest of &5,860 on bank FDRs on 24.4.2021 and interest of ¥ 6,786
(Net) from the debentures of Indian Companies on 5.5.2021.

—  Made payment by cheques of ¥ 15,370 towards premium on Life Insurance
policies and ¥ 22,500 for Mediclaim Insurance policy for self and spouse.

- Invested in NSC 30,000 and in FDR of SBI for 5 years & 50,000.

Donations of ¥ 11,000 to an institution approved u/s 80G and of € 5,100 to Prime
Minister’s National Relief Fund were given during the year by way of cheque.

Compute the total income and tax payable thereon for the A.Y. 2022-23. Assume
Ramdin does not opt for section 115BAC.

SECTION -D
17. Answer the following: (Compulsory) (10)
-23 in the following cases:

& v ) u :
METTT L Saaigter A s w0
y Sl T SV - Al 2
A J & U L S “2
——— -‘_"’3"-1" o
‘-{ ’ \

- Non-resident | R
‘ { i v {
Totalincome other than | 240,000 | 2,80,000 7 590000 f;lg%zg -1
long-term capital gain | n j i |
Long-term capital gain | 15,000 . 10,000 - %“G*daaoh-mﬂ_ Lot
| l from sale | from sale of i from sale of ,
: . of vacant listed equity | agricultural i
s site  shares (STT -~ | land in |
L x . paid on sale ‘l rural areq | |
| and purchase ’i | g
’; | ! . of shares) *, | 'i
Note - Assume that Mr. A, Mrs. B, Mr. C 1

and Mr. D do not opt for sectio
3 3K 3 3% % 3K % % K %

n 1158AC.
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St Aloysius College (Autonomous)
Mangaluru
g.Com- (Vocational) Semester IV — Degree Examination
July/August - 2022
COST AND MANAGEMENT ACCOUNTING - 1I

fime: 3 hrs. Max Marks: 100
SECTION - A
Answer any FIVE questions of the following: (5x2=10)
1, Calculate efficiency and activity ratio from the following data:
Capacity ratio 75% |
Budgeted output 6,000 units
Actual output 5,000 units
Standard time per unit 4 hours

2. A company sells two products, J and K. The sales mix is 4 units of J and 3 units
of K. The contribution margins per unit are 240 for J and %20 for K. Fixed costs
are ¥6,16,000 per month. Compute the break-even point.

3. What is the treatment of Abnormal Gain in Process and Operating Costing?

4. The standard and actual figures of a firm are as under:

| Standard time for the job 11,000 hours ]
. Standard rate per hour %0.50
Actual time taken 900 hours
'L_Actual wages paid 2360
Eompute:
(@) Rate variance ST ALOYSIUS COLLEGE LIBRAR)
(b)  Efficiency variance VANGALURU- 575 003
3. A lorry starts with a load of 24 tonnes of goods from station. It unloads 10
tonnes at station B and rest of goods at station C. It reaches back directly to
station A after getting reloaded with 18 tonnes of goods at station C. the
distance between A to B, B to C and then from C to A are 270 kms, 150 kms
and 325 kms respectively. Compute ‘Absolute tonne km’ and ‘Commercial
tonne-km’.
6. What is the cost unit for Cinema and Electricity Supply Services?
7. What are joint products?
SECTION-B
Answer any FOUR questions of the following: (4x12=48)
8.

The following information is available from the books of Vinayas Ltd. which

Uses three types of materials for production.

Contd...2
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e B " Standard iy S 0B " R e SR
e { ol 1 i rice | Total
E\\i jal dﬁanfity Price | Total Q“W . . } -
) eria :
= (kgs) | (O | @) thgk) —L;*—m“
raamn I 000 6.
X 00 | 15000 | 2 | L
” e : —t>5¢co0 | 3.60 9,000
Y 2,000 3,75 | 7,500 2,500 — el
- ,000 : !
Z 1,500 3.00 | 4,500 2 ad o
_ 5 s
Sub Total 6,000 o 1
Less: 10% 600 :
Ness | I:ss (Actual Loss)
e 26,000
Total 5,400 27,000 5,400 '
Calculate:

(a) Material cost variance

(b) Material price variance

(c) Material mix variance

(d) Material yield variance

(e) Material usage variance.

9. A company’s plant processes 1,50,000 kgs. of raw material in a month to

produce two Products, viz, ‘P’ and ‘Q’. The cost of raw material is ¥12 per kg.
The process costs for the month are:

Particulars =~ | Amount (%)
Dii;ect material ] 90,000
Direct wages 1,20,000
Variable overheads 1,00,000
Fixed overheads 1,00,000

The loss in process is 5% of input and the output ratio of P and Q which
emerge simultaneously is 1:2. The selling prices of the two products at the
point of split off are:

P - 212 per kg

Q - 220 per kag.

A proposal is available to process P further by mixing it with other purchased
materials. The entire current output of the plant can be

SO processed further
to obtain a new Product

'S". The price per kg. of S is %15 and each kg of
output of S will require one kilogram of input P. T

. . . he cost of processing of P
into S (including other materials) is 21,85,000 per

month.

Will you recommend further processing?

Contd...3
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A mineral is transported f S
10. . ported from two mines - A and B and unloaded at plots i
Railway station. Mine A is at a distance of 10 kms and B i pes e
¢ Is at a di
kms from railhead plots. A fleet of lorries of 4 tonne carrvi istance of 15
ing capacity i
for the transport of mineral from the mines, R M Bl
es. Records reveal that the lorries
average a speed of 30 kms per hour, when ,
minute to unload at the rai ’ VL, DR YLy keI
. S ltallhead. At mine ‘A’ loading time averages 30
minutes per load while at mine ‘B’ loading time averages 20 minutes per load.
Driver's wages, depreciation, insurance and taxes are found to cost 39 per
hour operated. Fuel, oil, tyres, repairs and maintenance cost ¥1.20 per km.
Draw up a statement showing the cost per tonne-kilometer of carrying mineral
from each mine.
11. Ppentax Ltd. has prepared its expense budget for 20000 units in its factory for
the year 2016 as detailed below:
_Partlculars . , Amount () per unit
Direct Materials | 50
Direct labour 20
Variable overhead 15
Direct expenses 6
Selling expenses(20% fixed) 15
Factory expenses(100% fixed) 7
Administration expenses 4
(100% fixed)
Distribution expenses 12
(85% variable)
Total 129
Prepare an expense budget for the production of 15000 units and 18000
units.
12. Arnav Ltd. manufactures and sells its Product R-9. The following figures have
been collected from cost records of last year for the Product R-9:
“Elements of Cost B Vi Varlable Cost . leedg Cost -
iemeniag P bt T poni s @ .
Direct material /,..MCOGS —
Di 15% of COGS .
irect labour i e 2,30,000
F 10% of COGS Sda
| Factory overhead oo ofCOGS 71.000
General & Administration overhead 20/0 of - 68,000
Sellmg & Distribution overhead 4% of Cost 0
er unit. From the given data find

Last year 5000 units were sold at 185 P
the following: ST ALOYSIUS COLLEGE LIBRAS

viANGALURU- 574 (02
(a) Break-even Sales (in %)
(b) Profit earned during last year
(c) Margin of Safety (in %)

(d) Profit if the sales were 10% less than the actual sales.

contd...4
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A product passes through three processes to com
details are given for the month of June 2016:

pletion. The following

T AR B OO

ADitect materigls. 4,000 | 6,040 6,924
Direct wages 7,000 8,452 10,000 B
Factory overheads 3,000 4,000 5,000
Scrap value per unit 6 10 12
Actual production (units) 1,840 1,740 1,600
Normal loss 10% 5% 10%

2000 units were introduced to Process A at %5 per unit.
The by-products of Process B were sold for 600.
Output from Process C is transferred to finished stock account which is sold
after incurring selling expenses of ¥10,000 and management expenses of
20,000 at a profit of 20% on sales.
You are required to prepare:
(a) Process accounts
(b) Finished stock account
(c) Normal loss account
(d) Abnormal loss account

(e) Abnormal gain account

SECTION - C
Answer any TWO questions of the following: (2x16=32)
During January, 2,000 units were introduced into Process I. The normal loss
was estimated at 5% on input. At the end of the month 1,400 units had been
produced and transferred to next process, 460 units were uncompleted and

140 units had been scrapped. It was estimated that uncompleted units had
reached a stage in production as follows:

Material 75% completed
Labour 50% completed
Overhead 50% completed

The cost of 2000 units introduced was ¥5,800

Direct materials introduced during the process amounted to ¥1,440
; :

Production overhead incurred were ?1,670. Direct labour ?3,340
Units scrapped realized 31 each. ,

The units scraped have Passed through the Process, so were 100%
completed as regards material, labour and overheads

You are required to prepare

(a) Statement of Equivalent production

(b) Evaluate the cost of abnormal loss, finished goods and closing stock
(c) Prepare the Process [ account and abnormal loss account

contd...3
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ABC Ltd. is currently operating at 75% of its capacity. In the past two years,
the levels of operations were 550 and 65% res

production is 75000 units. The company is
during 2016-17. The cost details are as follo

pectively. Presently, the
planning for 85% capacity level

WS:

Particulars. = - | 55% (?) 65% (2) 75% (3)
Direct materials 11,00,000 13,00,000 15,00,000
Direct labour . 5,50,000 6,50,000 7,50,000
Factory overheads 3,10,000 3,30,000 3,50,000
Selling overheads 3,20,000 3,60,000 4,00,000
Administrative 1,60,000 1,60,000 1,60,000
overheads

Total 24,40,000 28,00,000 31,60,000

Profit is estimated @ 20% on sales. The following increases in costs are
expected during the year:

Particulars : In percentage
Direct materials 8
Direct labour 5
Variable factory overheads 5
Variable selling overheads 8
Fixed factory overheads 10
Fixed selling overheads 15
Administrative overheads 10

Prepare flexible budget for the period 2016-17 at 85% level of capacity.
Also ascertain profit and contribution.

ABC hospital runs a critical care centre [CCU] in a hired building. CCU consists
of 35 beds and 5 more beds can be added, if required:

Rent per month - 275,000 ST ALOYSIUS COLLEGE LIBRAR)
Supervisors - 2 persons - 225,000 per month - each FANGALURY- 575 60

Nurses - 4 persons - 220,000 per month - each

Ward boys - 4 persons - 5,000 per month - each

Doctors paid ¥2,50,000 per month-paid on the basis of number of patients
attended and the time spent by them.

Other expenses for the year are as follows:

Repairs [fixed]: 81,000

Food to patients [variable]: 28,80,000

Other services to patients [variable]: ¥3,00,000

Laundry services [variable]: %6,00,000

Medicines [variable]: ¥7,50,000 Contd...6
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Other fixed expenses: ¥10,80,000
Administration expenses allocated: ¥10,00,000

It was estimated that for 150 days in a year 35 beds are occupied and for 80
days only 25 beds are occupied.

The hospital hired 750 beds at a charge of %100 per bed per day, to
accommodate the flow of patients. However, this does not exceed more than
5 extra beds over and above the normal capacity of 35 days on any day.

You are required to -

(a) Calculate profit per patient day, if the hospital recovers on an average
22000 per day from each patient.

(b) Find out break-even point.

SECTION - D

Answer the following: Compulsory (10)

MNP Ltd. sold 2,75,000 units of its product at 237.5 per unit. Variable costs
are ¥17.50 per unit (manufacturing costs of 214 and selling cost ¥3.50 per
unit). Fixed costs are incurred uniformly throughout the year and amount to

¥35,00,000 (including depreciation of ¥15,00,000). There is no beginning or
ending inventories.

Required:

(a) Estimate break even sales level quantity and cash break even sales level
quantity.

(b) Estimate the P/V ratio.

(c) Estimate the number of units that must be sold to earn an income (EBIT)
of 22,50,000.

(d) Estimate the sales level achieve an after-tax income (PAT) of %2,50,000
Assume 40% corporate income tax rate.

3 ok ke 3 ok ok ok sk ok ok
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"ENGLISH
Max Marks: 100
UNIT - I (PROSE)
Answer the following in a word/ phrase/sentence each. (5x1=5)
Which was the award received by Arundhati Roy in the year 2004?
Expand NGO.

In the essay, ‘Dancing in the Rain’, where are the children employed?

In the words of Stephen Leacock, what are the rich perpetually suffer
from?

"All things are connected.” In what context does the Chief say this?

Answer any FIVE of the following in about 150 words each.

(5x5=25)
How does the author comment on the sense of ownership over nature or

land displayed by the ‘Great Chief’? Elaborate.

In what different ways are the children in modern days straitjacketed in
the opinion of Azim Premji? Explain.

Why does the speaker comment that the idea of justice itself is under
attack today? Explain with reference to Arundhati Roy’s lecture?

What are the alarming shifts in the contemporary understandings of
justice and human rights? Give specific examples from the lecture of
Arundhati Roy.

What problems with wealth does Leacock talk about with Mr. Spugg?

How does Leacock describe his friend who had ten thousand dollars?
Why does the author repeatedly ascribe ‘sacredness’ or ‘holiness’ to

nature and natural phenomena? Justify your answer in the light of “The

Letter to Chief Seathl.” FIBRATS
UNIT - IT (POETRY) MANGALURU- 575 003

Answer the following in a word/phrase/sentence each.  (5x1=5)

According to the poem, ‘The Second Coming’ what has the world lost
touch with?

How does the speaker refer to the crowd in the poem, “The Lynching™?
‘One must learn to keep strict
the blank with the correct word from the poem, ‘Stay Calm.’

What could the Parson have done instead of preaching for forty years?

over selfishness and spite.” Fill

+ What saves the mosquito from being killed?

contd...2
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g 120 words each.
B. Answer any EOUR of the following In about (4x5=20)
_— jectification of th
1.  How does the poet bring out the dehumanization and obje R

I1I.

IV. A.
1

2.
3.
4,
.
6.
B.

i - he poem.
black bodies in *The Lynching’? Give illustrations frc-)m t d:.,g narchy &
How does W.B. Yeats highlight the idea of the impen y

making use of the metaphor of the ‘falcon and the falconer? Explain.
When, in the poet’s opinion, should one be sure that she has mastefred the
most vital thing in life? Explain in the light of the poem, ‘Stay Calm’.
What is God'’s attitude towards humanity in the poem, .
What comments does the poet make on God’s attitude towards humanity?

Elaborate. o
Discuss the special qualities and titles attributed to the mosquito in the

‘Channel Firing’?

poem, ‘The Mosquito’.

Comment on the influence of the ‘allure of power and unethical living’ in
the contemporary society with reference to the poem, '‘The Second
Coming’.

UNIT - III (SHORT - STORY)

Answer any THREE of the following in about 150 words each.
(3x5=15)
Write a note on the character of King Yiji.

What are some the things that King Yiji good at? How did he manage to
earn his daily living?

How does the peasant describe the appearance of the hermits that he
came across in one of his previous journeys?

How do the helmsmen/captain assist the bishop to reach the curious
island at last according to the short story, ‘The Three Hermits'?

Write a note on the various characters sailing in the vessel and the

purpose of their journey with reference to the short story, ‘The Three
Hermits’.

UNIT - IV (Grammar and Writing Skills)
Change the voice of the following sentences.
My friend has scored good marks in the internals.
Tom painted the entire house.

(6x1=6)

The wedding planner is showing all the reservations.
Suzan will bake two dozen Cup cakes for the bake sale,
Everyone considers her to be the best studen
What did they decorate the street with?
Frame ‘WH’

tin the class

questions to get the underlined words as answers.

1. The greatest difficulty was in jgent; ing the plant (6x1=6)
nts.

2. Parallel lines never meet,

Contd...3
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3. Performing an act of kindness Produces a positive attitude
4. The driver refuses to wait .

as he is in a hurry to reach home.
5. Superstitions of various kinds are prevalent among the masses

6. They sent a letter.

C. Fill in the blanks with the correct form of the verb given in the
brackets.

(6x1=6)

1. The candidate, along with her Supporters, the building. (leave,

leaves)

2. Macaroni and cheese

a delicious meal. (is, are)
enough. (is, are)
Either the measurement or the calculation
(has, have)

This equipment _______ unusual. (is, are)

The poet and dramatist dead. (is, are)

3. Just a card or a balloon

»

created a problem.

o v

Convert the following sentences into indirect speech. (6x1=6)
He said to her, “Please wait.”

He said to him, “Are you coming?”

ST ALOYSIUS COLLEGE LIBRAR)
She said' “I have baked a Cake.” VMIANGALURU- 575 063

Roshni said, I may meet her here.”
Ramesh said, ™I will finish my homework in two days.”

o unn A W N

*I'm sorry”, said mark.
Write an analysis of the following cartoon. (6x1=6)

¢ % % % K K Kk K
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(Short Story)

(A Answer all the following questions in a sentence/ word phrase each:

1.

B owo

II A,

L

2.

(5x1=5)

americans adapt various ways to free themselves from British English

True/False.

What was Arun doing when the boy met him?

How did the three hermits offer prayer before they met the Bishop?
What was the name of Dattas shop?

Who is William Slim addressing his speech to?

. Answer any TWO of the following in about 100-150 words each:

(2x5=10)
According to William Slim, what does it mean to be an officer?

How did the Americans simplify the usage of English?

Had Arun really forgiven Deepak? Support your answer with evidence
from the story ‘The Thief.’

Attempt a character sketch of the frame maker in "The Golden Frame.’

. Answer any ONE of the following in about 200-250 words :

(1x10=10)

What is the purpose of the customer visiting the photo frame shop? What
are the qualities that the customer attributes to the person in the
photograph in the story ‘The Golden Frame.”?

Why does Arun not hand the thief to the police? Do you think most people
would have done that? In what way is he different from others?

How does R K Narayan explain Toasted English?

(Play)
Answer the following in a word/phrase or a sentence:

(5x1=5)
Who wrote Dance Like A Man?

What did Ratna promise C V Suri?

What was Vishwas fathers occupation?

What happen to the Mridangam performer?

Who is Chenni amma?

Contd...z
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o s - rds each:
B. Answer any TWO of the following in about 100-150 wo (2x5=10)
. . . A L|ke A Man.'
1. Explain the theme of gender discrimination in the play "Dance -
; in the play.
2. Bring out the difference between the two generations portrayed
3. Explain the role of women in the play. ;
: hrou
4, Bring out the stereotypical attitude of the society brought out t f

Amritlal with examples from the play.

C. Answer any ONE of the following in about 200-250 words: (1x10=10)
1. Bring out the elements of humor in the play ‘Dance Like A Man.’
2. Explain the gender bias portrayed in the play.
3. Give an account of the circumstances that lead to the death of Shankar.
UNIT III
(Novel)
III A. Answer the following in a sentence or two each: (5x1=5)

1. Who is Marie?

2. Who is Raymond?

3. Why did the Arabs follow Meursault, Marie and Raymond?

4. Who was the owner of the beach house?

5. Raymond asked Meursault to write a letter to his brother. True/False

B. Answer any ONE of the following in 100-150 words each: (1x5=5)
1. Briefly describe the relationship between Salamano and his dog?
2. Why was Meursaults’ boss displeased with him?

3. Give details about Maries visit to Meursaults when he was in prison.

C. Answer any ONE of the following in 200-250 words each: (1X10=10)

1. Give an account of the various things Meursault obs

erves thro '
balcony after his mothers death. ugh his

2. What role does Hope play in the second half of the nove|?
3. What is Meursault and Maries view on their relati i
a :
from each other? tionship? How do they differ
UNIT IV

(Grammar and writing skills)
IV A. Write an arguementative essay on the following topi
ic:

Is climate change the most serious threat to the —— (1X10=10)
B. Write a movie review on one -
of the c
watched Superhero Movies yqy, have
(1X5=5)

contd.lla
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404
6 the student president of your college. The college has invited
are

¢ L wned Musician for the music fest. Write a speech introducing
a reno

the chief guest: (5x1=5)
_Analyze the following Cartoon (5x1=5)
E. Rewrite the following adding Question tags: (10x% =5)

a) I am wrong.
b) She is eating her lunch.

¢) The dog was missing.
ST ALOYSIUS COLLEGE LIBRARY

d) They will be visiting us.
VIANGALURU- 575 003

e) The doctor said he’s unavailable.
f) Let’s begin.

g) Red is not a great colour.

h) He did not want to swim.

i) I promised you.

J) Mark can run fast.
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1A% @ 1é le compnl‘atif 1x5 =3
. ompletez avec
1. Moi et ma sceur chantent (-)
2. Sylvie court (-vite) Ronald o
3. Les Marocains et les Indiens boivent du café (=)
4. Le fauteuil et la chaise (+ confortable)
5. L’Océan Atlantique et L’Océan Pacifique (grand +)
V. Remplacez les mots soulignés avec un pronom possessif Ix5 =
1. Ma tante est belle.
2. Ton ecole est ici.
3. Votre chambre est grande.
4. Leurs chaussures sont blancs.
5. Notre ami féte son 20 ans
VI. Repondez en utilisant les pronoms possessifs 1x5 =5

1. C’est son parapluie?
2. Tu as tes documents?
3. Jen'ai pas de livre. Tu peux me préeter ....... ?
4. Elle s'occupe de ses affaires et vous vous occupez de.....
5. Tu as rangé tes affaires et moi j'ai rangg¢..........

VII. Repondez en utilisant pronoms démonstratifs. | 1x5 =5
1. A quiest ce vélo? —ce ........de Sonia.
2. Ce roman est trop court, et ....... est trop long.
3. Les oranges de Californie colitent moins cher que ........ de Floride.
4. J’ai acheté deux cafés; ........... est décaféiné.
5. Je ne peux pas décider entre cette voiture et ......

VIII. DIALOGUE 1x10 =10

Vtzus partez en vacances pour deux mois. Une amie vous demande si vous accepteriez d
preter votre appartement a un de ses cousins. Mais peut-on avoir confiance en lui?
ou
t(cfilédcle]ux). Ave{; 1un(«e) ami(e), vous entrez dans un magasin pour acheter un nouveau
€léphone portable (ou un s |
p ( nouveau vetement, etc.). Regardez, commentez, choisissez.

IX.  Lisezle texte et répondez aux questions (10)

Des gilets de haute visibilj .

de prgotestation naor:3 ?Slblmé de couleur jaune portés par les manifestants — est un mouveme!

trouve son ori ines ;u cturf apgaru en France en Octobre 2018, Ce mouvement social spontant
g ans la diffusion, principalement sur les réseaux sociaux, d'appels a

manifester contre |' : :
i e oo Mugmf!ntatmn du prix des carburants automobiles issue de la hausse de 1a 12¥°
nsommation sur les produits énergétiques (TICPE)

A partir du 17 novembre 2018, la conte
points et de manifestations tous Jes s
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Rapidement, les revendications du mouvement s'élargissent aux domaines sociaux et politi

Lors des rassemblements, le plus souvent non déclarés, plusieurs milliers de e:sj olitiques.
blessées, aussi bien du coté des manifestants que des forces de I'ordre Dtl:s aszz:isttsont
comme Amnesty International critiquent une conduite inadaptée du maintie;1 de l'ordre :tl?il::z

institutions comme I'ONU et le Conseil de I'Europe s’interrogent sur l'usage d'armes comme
les LBD et les grenades de désencerclement.

Face a l'ampleur de ce mouvement, l'exécutif renonce a la hausse de la TICPE. Le président de la
République, Emmanuel Macron, annonce ensuite des mesures, entérinées par laloi portant
mesures d'urgence économiques et sociales, puis lance le grand débat national, a l'issue duquel il
annonce de nouvelles réformes. Cette réponse ne met pas fin au mouvement : des mobilisations,
moins nombreuses, persistent sous différentes formes.

Sous la présidence de Frangois Hollande, l'instauration de la taxe carbone ne rencontre pas une
forte hostilit¢ dans l'opinion publique, le prix du pétrole étant plutét en baisse lors de son
quinquennat. Mais entre 2017 et 2018, le prix du baril passe de 40 a 80 dollars environ ; la
hausse des tarifs s’éléve a 28 % pour le fioul domestique, a 22 % pour le gaz naturel, a 21 %
pour le diesel. a 13 % pour l'essence®. Le phénoméne est amplifié par une augmentation de la

laxe carbone, prévue dés sa mise en place mais que le gouvernement d'Edouard Philippe décide
d'accélérer.

Alors qu'en 2017, le ministre de la Transition écologique, Nicolas Hulot, n'avait pas eu de
difficultés a faire voter les hausses de la fiscalité énergétique, le débat parlementaire est
beaucoup plus vif en 2018, La Tribune indiquant que « I'incompréhension d'une partie des
citoyens provoque une véritable fronde qui se cristallise sur le prix des carburants ». Mais le
gouvernement ignore les avertissements de la Commission nationale du débat public, consécutifs
au débat public sur la programmation pluriannuelle de I'énergie, sur l'acceptabilité de la hausse
de la taxe carbone, qu’elle juge pénalisante pour « les plus dépendants et les plus captifs aux
énergies fossiles » en I'absence de refonte de la fiscalité générale.

I Ou se trouve son origine ce mouvement? ST ALOYSIUS COLLEGE LIBRARY

VIANGALURU- 575 003

2. Ce mouvement, que demande-t-il ?
3: Champs-Elysées est le point de départ de la manifestation. Vrai ou faux ?

4. Pour quelle raison I’institution internationale critique le gouvernement ? 2)
5. Qui est Emmanuel Macron?

6. Qui sont affecté par la hausse des prix?

Qu’est-ce-que La Tribune indique ?

Donnez la forme nominale du verbe augmenter

Trouvez la former verbale de blessure. Ecrivez P’infinitif du verbe

¢ ok ok ok ok K
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Max Marks: 50
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PART - A
GENDER EQUITY
1 Answer the following questions in a sentence each. r——
1, Define gender equity.
5. Expand HIV.
3. What is S€X ratio?
4, Definé mental health.
5, Whatis globalization?
1. Answer the following in 2-3 sentences each. (2x5=10)

{ Differences between matriarchy and patriarchy.

What is gender division of labour?

What is malnutrion? ST ALOYSIUS COLLEGE LIBRAR)
What is Dowry Prohibition Act? ' RU- 575 00

VANGCALURU- 575 063
What is ‘Sarve Santu Niramayah'?

3 I U TOR N

III. Answer any TWO of the following in 20-25 sentences. (10x2=20)

1. Explain the need for gender sensitization to remove gender discrimination.

2. Describe the initiatives taken by the government to promote the rights of the
girl child.

3. What are the factors affecting maternal mortality? Discuss.

PART - B
VALUE EDUCATION

k
1 Answer any ONE of the following is not less than a page: (5x1=5)
2- What is social media? Mention the different types of social media?
- Write a short note on protection of children from sexual offences (POCSO) AC
2012,
I Ans
o Wer any ONE of the following is not less than two (1x10=10)
ges:
L. What i
is - , : i
2 Professional ethics? Explain the attributes of professional ethics.

What is ;
corruption? What are the ways (skills) to curb corruption?

% % % % % % % % %



